
Water Parts Price List
Form U676-24 (Replaces U676-23)

EFFECTIVE JANUARY  1 ,  2022





CONTENTS 

T-10® Residential Meters.............................................................................................................................................................................. 1 

T-10® Backflow Meter – Double Check ....................................................................................................................................................... 2 

Small Meter Accessories .............................................................................................................................................................................. 2 

Large TRU/FLO® Meters ............................................................................................................................................................................... 3 

Large HP PROTECTUS® Meters .................................................................................................................................................................... 5 

Large HP Turbine Meters ........................................................................................................................................................................... 10 

Large Trident® Turbine ............................................................................................................................................................................... 12 

Large Fire Service Meters ........................................................................................................................................................................... 12 

C&I MACH 10® Meters ................................................................................................................................................................................ 13 

Fire Hydrant Meters .................................................................................................................................................................................... 13 

Strainers ....................................................................................................................................................................................................... 14 

UMEs............................................................................................................................................................................................................. 15 

Large Meter Accessories ............................................................................................................................................................................ 18 

Reading Systems Endpoint ........................................................................................................................................................................ 18 

Reading Systems Probes ............................................................................................................................................................................ 19 

Reading Systems Field Programmers ....................................................................................................................................................... 19 

Reading Systems Handhelds ..................................................................................................................................................................... 19 

Reading Systems Mobile ............................................................................................................................................................................ 20 

Reading Systems LoRaWAN® Gateway ..................................................................................................................................................... 20 

Reading Systems R450TM Fixed Network ................................................................................................................................................. 20 

Reading Systems R900® Gateway Fixed Network ................................................................................................................................... 20 

Neptune® 360TM Platform .......................................................................................................................................................................... 20 

Reading Systems Receptacles ................................................................................................................................................................... 21 

TRICON®/S ................................................................................................................................................................................................... 21 

TRICON®/E ................................................................................................................................................................................................... 24 

SmartTrolTM .................................................................................................................................................................................................. 24 

Registers - Direct Read ............................................................................................................................................................................... 25 

Registers - E-CODER® Inside ...................................................................................................................................................................... 25 

Registers - E-CODER® Pit ............................................................................................................................................................................ 26 

Registers - E-CODER®)R900iTM Inside ........................................................................................................................................................ 26 

Registers - E-CODER®)R900iTM Pit .............................................................................................................................................................. 27 

Registers - LoRaWAN® E-CODER®)R900iTM Pit ......................................................................................................................................... 28 

Registers - ProCoderTM Inside .................................................................................................................................................................... 29 

Registers - ProCoderTM Pit .......................................................................................................................................................................... 29 

Registers - ProCoderTM)R900iTM Inside ..................................................................................................................................................... 30 

Registers - ProCoderTM)R900iTM Pit ........................................................................................................................................................... 30 

Registers - LoRaWAN® ProCoderTM)R900iTM Pit ....................................................................................................................................... 30 

Notes ............................................................................................................................................................................................................ 32 



Water Parts Price List

Description Part Number Part Description List Price

SMALL METERS T-10 5/8” ....81-500 THRUST ROLLER 5/8 & 3/4 T-10 $0.32

SMALL METERS T-10 5/8” ..1787-101 SPUD PLUG W/PULLRING for 5/8 & 3/4 METERS $0.96

SMALL METERS T-10 5/8” ..1788-008 SPUD CAP PLASTIC 5/8 METERS $0.24

SMALL METERS T-10 5/8” ..6110-010 COUPLING WASHER 5/8 LEATHER $0.50

SMALL METERS T-10 5/8” ..6110-013 COUPLING WASHER 5/8 .095 RUBBE $0.64

SMALL METERS T-10 5/8” ..8340-069 GASKET 2.985 X 3.490 X .120 $0.64

SMALL METERS T-10 5/8” ..8340-072 GASKET/LINER MOLDED 5/8  NT-10 $1.14

SMALL METERS T-10 5/8” ..8353-105 BOLT & WASH 5/16  .93LG 316 SST $1.50

SMALL METERS T-10 5/8” ..8353-106 BOLT & WASH 5/16  .93LG 302/304 SST $0.64

SMALL METERS T-10 5/8” ..9386-001 O-RING,SQUARE-5/8 T-10 CHAMBER $0.82

SMALL METERS T-10 5/8” ..9386-004 ORING SQUARE 5/8 NT-10 $0.86

SMALL METERS T-10 5/8” ..9391-001 DIAPHRAGM 5/8 T-10 $0.50

SMALL METERS T-10 5/8” ..9397-010 BOTTOM CAP, C/I  5/8 T-10 $5.64

SMALL METERS T-10 5/8” ..9397-012 BOTTOM CAP CAST TO SIZE 5/8 NT-10 C/I $5.64

SMALL METERS T-10 5/8” ..9397-123 BOTTOM CAP BRONZE 5/8 T-10 CAST TO SIZE $20.00

SMALL METERS T-10 5/8” ..9397-124 BOTTOM CAP CAST TO SIZE 5/8 NT-10 BRONZE $24.50

SMALL METERS T-10 5/8” ..9397-501 BOTTOM CAP, PLS  5/8 T-10 MOLD $6.44

SMALL METERS T-10 5/8” ..9397-503 BOTTOM CAP MOLD TO SIZE 5/8 NT-10 PLASTIC $6.44

SMALL METERS T-10 5/8” ..9398-001 LINER-BTM CAP  5/8 T-10 $1.14

SMALL METERS T-10 5/8” ..9399-005 STRAINER 5/8 T-10 $1.14

SMALL METERS T-10 5/8” ..9399-006 STRAINER 5/8  NT-10 $1.14

SMALL METERS T-10 5/8” ..9400-600 CHAMBER COMP 5/8 T-10 PLS MOLD TO SIZE $25.76

SMALL METERS T-10 5/8” ..9400-900 CHAMBER COMPLETE 5/8  NT-10 $25.76

SMALL METERS T-10 3/4” ....81-500 THRUST ROLLER 5/8 & 3/4 T-10 $0.32

SMALL METERS T-10 3/4” ..1787-101 SPUD PLUG W/PULLRING for 5/8 & 3/4 METERS $0.96

SMALL METERS T-10 3/4” ..1789-008 SPUD CAP PLASTIC 3/4 METERS $0.24

SMALL METERS T-10 3/4” ..6111-004 COUPLING WASHER 3/4 LEATHER $0.64

SMALL METERS T-10 3/4” ..6111-012 COUPLING WASHER 3/4 RUBBER $0.82

SMALL METERS T-10 3/4” ..8340-034 GASKET 3.565  X 4.045 X .120 $1.28

SMALL METERS T-10 3/4” ..8353-105 BOLT & WASH 5/16  .93LG 316 SST $1.50

SMALL METERS T-10 3/4” ..8353-106 BOLT & WASH 5/16  .93LG 302/304 SST $0.64

SMALL METERS T-10 3/4” ..9386-002 O-RING 3/4 T-10 $1.94

SMALL METERS T-10 3/4” ..9826-200 MEASURING CHAMBER COMP 3/4 T-10 MOLD TO SIZE $34.46

SMALL METERS T-10 3/4” ..9829-001 DIAPHRAGM 3/4 T-10 $0.64

SMALL METERS T-10 3/4” ..9831-001 STRAINER 3/4 T-10 $1.28

SMALL METERS T-10 3/4” ..9832-001 LINER BOTTOM CAP 3/4 T-10 $2.10

SMALL METERS T-10 3/4” ..9833-010 BOTTOM CAP C/I 3/4 T-10 CAST-TO-SIZE PAINTED $12.88

SMALL METERS T-10 3/4” ..9833-024 BOTTOM CAP BRONZE 3/4 T-10 CAST-TO-SIZE $30.00

SMALL METERS T-10 1” ...190-500 THRUST ROLLER 1 PLS DISC $0.50

SMALL METERS T-10 1” ..1787-102 SPUD PLUG W/PULLRING for 1" METER $1.28

SMALL METERS T-10 1” ..1790-007 SPUD CAP PLASTIC 1 METERS $2.58

SMALL METERS T-10 1” ..6112-004 COUPLING WASHER 1 LEATHER $0.82

SMALL METERS T-10 1” ..6112-012 COUPLING WASHER 1 RUBBER $0.96

SMALL METERS T-10 1” ..8340-038 GASKET 4.620  X 5.145 X .120 $1.46

SMALL METERS T-10 1” ..8353-105 BOLT & WASH 5/16  .93LG 316 SST $1.50

SMALL METERS T-10 1” ..8353-106 BOLT & WASH 5/16  .93LG 302/304 SST $0.64

SMALL METERS T-10 1” ..9386-003 O-RING 1   T-10 $3.06

SMALL METERS T-10 1” ..9826-300 MEASURING CHAMBER COMP 1  T-10 MOLD TO SIZE $66.00

SMALL METERS T-10 1” ..9831-002 STRAINER 1   T-10 $1.62

SMALL METERS T-10 1” ..9840-001 DIAPHRAGM 1 T-10 $0.82

SMALL METERS T-10 1” ..9841-001 LINER BOTTOM CAP 1 T-10 $1.78

SMALL METERS T-10 1” ..9842-010 BOTTOM CAP C/I 1 T-10 BLACK $21.74

SMALL METERS T-10 1” ..9842-024 BOTTOM CAP 1 T-10 BRONZE CAST-T0-SIZE $55.00

INTERMEDIATE T-10 1 1/2” ..1784-015 SPUD PLUG 1 1/2 FLANGED $2.10

INTERMEDIATE T-10 1 1/2” ..8307-051 BOLT HEX 7/16-14 1 1/8 SST 302/304 $2.58

INTERMEDIATE T-10 1 1/2” ..8315-029 PIPE PLUG 1 MACHNING T-10 TEST PORT $24.54

FORM U676-24 (REPLACES U676-23) 1 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

INTERMEDIATE T-10 1 1/2” ..8316-607 O-RING SQUARE 1 1/2 T-10 $4.50

INTERMEDIATE T-10 1 1/2” ..9083-001 GASKET, M/C  1 1/2 T-10 $3.70

INTERMEDIATE T-10 1 1/2” ..9084-001 STRAINER 1 1/2 T-10 $3.70

INTERMEDIATE T-10 1 1/2” ..9086-101 DIAPHRAGM 1 1/2 T-10 NEW $6.28

INTERMEDIATE T-10 1 1/2” ..9097-000 CONTROL BLOCK ASSEMBLY 11/2 T-10 $12.08

INTERMEDIATE T-10 1 1/2” ..9098-600 MEASUR CHAMBER ASY 11/2 T-10 MTS $150.22

INTERMEDIATE T-10 1 1/2” ..9850-100 THRUST ROLLER  1 1/2 & 2 $3.22

INTERMEDIATE T-10 2” ..1784-019 SPUD PLUG 2 SCREW END $2.42

INTERMEDIATE T-10 2” ..1784-026 SPUD PLUG 2 FLANGE SPECIAL $5.16

INTERMEDIATE T-10 2” ..8307-051 BOLT HEX 7/16-14 1 1/8 SST 302/304 $2.58

INTERMEDIATE T-10 2” ..8315-029 PIPE PLUG 1 MACHNING T-10 TEST PORT $24.54

INTERMEDIATE T-10 2” ..8316-606 O-RING SQUARE 2 T-10 $5.00

INTERMEDIATE T-10 2” ..9083-002 GASKET, M/C   2 T-10 $7.26

INTERMEDIATE T-10 2” ..9084-002 STRAINER  2 T-10 $5.16

INTERMEDIATE T-10 2” ..9086-102 DIAPHRAGM 2 T-10 NEW $7.26

INTERMEDIATE T-10 2” ..9097-010 CONTROL BLOCK ASSEMBLY 2 T-10 $12.88

INTERMEDIATE T-10 2” ..9098-610 MEASUR CHAMBER ASY 2 T-10 MTS $193.20

INTERMEDIATE T-10 2” ..9850-100 THRUST ROLLER  1 1/2 & 2 $3.22

BACKFLOW T-10 5/8" ..1788-008 SPUD CAP PLASTIC 5/8 METERS $0.24

BACKFLOW T-10 5/8" ..1789-008 SPUD CAP PLASTIC 3/4 METERS $0.24

BACKFLOW T-10 5/8" ..5500-163 CHECK VALVE REMOVAL TOOL $120.00

BACKFLOW T-10 5/8" ..8315-023 PIPE PLUG 1/4 NPT THREADS 5/8 BACKFLOW $0.32

BACKFLOW T-10 5/8" ..8316-046 O-RING 1/16 DIA  .176 ID $0.72

BACKFLOW T-10 5/8" ..8316-120 O-RING 3/32 DIA  1.799 ID $0.56

BACKFLOW T-10 5/8" ..8316-121 O-RING 3/32 DIA  1.987 ID $1.46

BACKFLOW T-10 5/8" ..8340-069 GASKET 2.985 X 3.490 X .120 $0.64

BACKFLOW T-10 5/8" ..8353-105 BOLT & WASH 5/16  .93LG 316 SST $1.50

BACKFLOW T-10 5/8" ..8353-106 BOLT & WASH 5/16  .93LG 302/304 SST $0.64

BACKFLOW T-10 5/8" ..8356-534 COMPRESSION SPRING 1.512OD $1.14

BACKFLOW T-10 5/8" ..8368-816 TEST COCK 5/8 METER/BACKFLOW $18.20

BACKFLOW T-10 5/8" ..8579-037 RETAINER RING 5/16 SHAFT SST $1.46

BACKFLOW T-10 5/8" ..8579-308 SNAP RING ROTOR CLIP KM-218SU $5.48

BACKFLOW T-10 5/8" ..9397-010 BOTTOM CAP, C/I  5/8 T-10 $5.64

BACKFLOW T-10 5/8" ..9397-501 BOTTOM CAP, PLS  5/8 T-10 MOLD $6.44

BACKFLOW T-10 5/8" ..9398-001 LINER-BTM CAP  5/8 T-10 $1.14

BACKFLOW T-10 5/8" ..9399-004 STRAINER 5/8 T-10 BACKFLOW & PART ORDER $1.14

BACKFLOW T-10 5/8" ..9400-600 CHAMBER COMP 5/8 T-10 PLS MOLD TO SIZE $25.76

BACKFLOW T-10 5/8" .11918-002 KNOB SHUT OFF 5/8 METER/BACKFLOW $0.82

BACKFLOW T-10 5/8" .11919-001 END PLATE DOUBLE CHECK 5/8 METER/BACKFLOW $7.08

BACKFLOW T-10 5/8" .11922-001 HOUSING UNIVERSAL 5/8 METER/BACKFLOW $1.94

BACKFLOW T-10 5/8" .11923-001 HOOP TEST PORT 5/8 METER/BACKFLOW $0.96

BACKFLOW T-10 5/8" .11925-001 HOUSING SINGLE METER 5/8 METER/BACKFLOW $1.94

BACKFLOW T-10 5/8" .11926-001 SPRING RETAINER GUIDE 5/8 METER/BACKFLOW $1.14

BACKFLOW T-10 5/8" .11927-001 STRAINER MOLDED 5/8 METER/BACKFLOW $0.96

BACKFLOW T-10 5/8" .11937-001 STEM 5/8 METER/BACKFLOW $5.32

BACKFLOW T-10 5/8" .11950-000 POPPET VALVE ASSEMBLY 5/8 METER/BACKFLOW $6.62

BACKFLOW T-10 5/8" .11951-000 SHUT OFF VALVE ASSEMBLY 5/8 METER/BACKFLOW $12.72

BACKFLOW T-10 5/8" .11959-000 INLET  MODULE W/PLS PLATE DBLE $34.54

BACKFLOW T-10 5/8" .11959-100 CHECK #1 MODULE $16.72

BACKFLOW T-10 5/8" .11959-200 CHECK #2 MODULE $16.32

BACKFLOW T-10 5/8" .11959-300 OUTLET MODULE W/PLS PLATE DBLE $31.92

BACKFLOW T-10 5/8" .11972-001 RETAINER PLATE METER/BACKFLOW $0.50

BACKFLOW T-10 5/8" .11977-001 RUBBER REPAIR KIT 5/8 BACKFLOW $16.52

SMALL METER ACCESSORIES .41110-502 SEAL WIRE LEAD FREE $0.96

LARGE TRU/FLO 2” ..8305-042 SCREW  10-32   1/2  PAN HD SST $0.64

LARGE TRU/FLO 2” ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

FORM U676-24 (REPLACES U676-23) 2 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE TRU/FLO 2” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE TRU/FLO 2” ..8316-041 O-RING 1/16 DIA 3.739 ID $8.54

LARGE TRU/FLO 2” ..8328-045 SCREW SELF-TAP10-24 1 LG18-8 $0.82

LARGE TRU/FLO 2” ..8329-213 BOLT 3/8-16 1 1/4L SST HEX HD $2.38

LARGE TRU/FLO 2” ..8340-062 SEAL RING 1 1/2 & 2 HP $40.26

LARGE TRU/FLO 2” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE TRU/FLO 2” ..8396-007 SCREW 10-32 3/8  LG FIL HD SST 304 $0.32

LARGE TRU/FLO 2” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE TRU/FLO 2” ..8568-010 WASHER.200  .359 .031 316 $2.80

LARGE TRU/FLO 2” ..9399-002 STRAINER 2 & 3 T/F $1.14

LARGE TRU/FLO 2” ..9399-003 STRAINER 2 HP-TRU/FLO $4.50

LARGE TRU/FLO 2” ..9400-600 CHAMBER COMP 5/8 T-10 PLS MOLD TO SIZE $25.76

LARGE TRU/FLO 2” ..9484-013 DRIVE SLEEVE 2 HP T/F $12.08

LARGE TRU/FLO 2” ..9485-011 DRIVE ASSEMBLY   2 HP TRU/FLO $19.32

LARGE TRU/FLO 2” ..9605-501 SPACER KIT 2 HP TRU/FLO CONVERSION OLD TO NEW HP $273.00

LARGE TRU/FLO 2” ..9672-001 VALVE SEAL 2 HP-TRU/FLO $5.64

LARGE TRU/FLO 2” ..9674-001 RETAINER RING 2 HP-TRU/FLO $7.64

LARGE TRU/FLO 2” ..9675-001 GASKET, M/C 2 HP-TRU/FLO $6.36

LARGE TRU/FLO 2” ..9676-100 COVER ASSEMBLY 2 HP T/F $1,200.00

LARGE TRU/FLO 2” ..9678-001 CHAMBER PLATE HP-TRU/FLO 2 $24.16

LARGE TRU/FLO 2” ..9679-001 DOOR THROTTLE VALVE 2 HP-T/F $0.88

LARGE TRU/FLO 2” ..9680-001 THROTTLE VALVE 2 HP-TRU/FLO $0.88

LARGE TRU/FLO 2” ..9681-004 VALVE ASSEMBLY KIT 2 HP TRU/FLO $109.26

LARGE TRU/FLO 2” ..9685-004 METER GASKET KIT 2 HP T/F $56.36

LARGE TRU/FLO 2” ..9855-001 STRAINER 1 1/2 & 2 HP-TURBINE $12.08

LARGE TRU/FLO 2” ..9856-001 LOCK RING HP-TURBINE 1 1/2 & 2 $2.10

LARGE TRU/FLO 2” ..9861-000 MEASURING CHAMBER ASSEMBLY 2" HP TRU/FLO $442.76

LARGE TRU/FLO 2” .11097-610 CALIBRATION VANE ASSEMBLY 2 HP T/F $60.78

LARGE TRU/FLO 2” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRU/FLO 3” ..8305-042 SCREW  10-32   1/2  PAN HD SST $0.64

LARGE TRU/FLO 3” ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

LARGE TRU/FLO 3” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE TRU/FLO 3” ..8316-274 O-RING  1/8 DIA  3 3/4 ID $4.60

LARGE TRU/FLO 3” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

LARGE TRU/FLO 3” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE TRU/FLO 3” ..8340-019 VALVE SEAL 2 & 3 T/F $4.04

LARGE TRU/FLO 3” ..8340-063 SEAL RING 3 TRU/FLO $46.70

LARGE TRU/FLO 3” ..8340-066 VALVE SEAL 3 TRU/FLO $7.26

LARGE TRU/FLO 3” ..8341-312 GASKET MAINCASE 3 T/F $5.32

LARGE TRU/FLO 3” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE TRU/FLO 3” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE TRU/FLO 3” ..8568-012 WASHER.281  .625 .045 316 $0.50

LARGE TRU/FLO 3” ..8579-033 RETAINER RING 3/4 SHAFT SST $3.70

LARGE TRU/FLO 3” ..8579-305 SNAP RING ROTOR CLIP CG-400SJ $28.00

LARGE TRU/FLO 3” ..9399-002 STRAINER 2 & 3 T/F $1.14

LARGE TRU/FLO 3” ..9400-600 CHAMBER COMP 5/8 T-10 PLS MOLD TO SIZE $25.76

LARGE TRU/FLO 3” ..9406-001 CHAMBER PLATE 2 & 3 T/F PASSIV $15.30

LARGE TRU/FLO 3” ..9409-003 COVER ASSEMBLY  3 T/F $1,800.00

LARGE TRU/FLO 3” ..9425-001 SEAL-THROTTLE VALVE 3 T/F $25.00

LARGE TRU/FLO 3” ..9429-011 THROTTLE VALVE ASSEMBLY SST 2 & 3 $233.46

LARGE TRU/FLO 3” ..9429-101 THROTTLE VALVE ASSEMBLY 3 T/F $233.46

LARGE TRU/FLO 3” ..9439-001SP00 MEASURING CHAMBER ASSEMBLY 3 TRU/FLO PO $781.66

LARGE TRU/FLO 3” ..9484-008 DRIVE SLEEVE 3 T/F $12.80

LARGE TRU/FLO 3” ..9485-006 DRIVE ASSEMBLY   2 & 3 T/F $21.74

LARGE TRU/FLO 3” ..9571-110 THROTTLE VALVE ASSEMBLY 3 AFTER 2001 $95.00

LARGE TRU/FLO 3” ..9681-001 VALVE ASSEMBLY KIT 3 TRU/FLO $442.76

LARGE TRU/FLO 3” ..9685-001 METER GASKET KIT 2 & 3 T/F $64.40

LARGE TRU/FLO 3” .11097-600 CALIBRATION VANE ASSEMBLY 2&3 T/F $60.00

FORM U676-24 (REPLACES U676-23) 3 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE TRU/FLO 3” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRU/FLO 3” .56311-003 DIAPHRAGM 3, 4 & 6 TRU/FLO MACH $40.26

LARGE TRU/FLO 4” ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE TRU/FLO 4” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE TRU/FLO 4” ..8316-276 O-RING  1/8 DIA  4 1/2 ID $7.58

LARGE TRU/FLO 4” ..8329-006 BOLT 1/4-20 1/2 LG SST HEX HD 316 or 304 $0.82

LARGE TRU/FLO 4” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

LARGE TRU/FLO 4” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE TRU/FLO 4” ..8340-030 VALVE SEAL  4 T/F $8.86

LARGE TRU/FLO 4” ..8340-064 SEAL RING 4 TRU/FLO $49.90

LARGE TRU/FLO 4” ..8340-068 VALVE SEAL 4 TRU/FLO FOR MOLDED CYLINDER $6.66

LARGE TRU/FLO 4” ..8341-313 GASKET MAINCASE 4 T/F $7.26

LARGE TRU/FLO 4” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE TRU/FLO 4” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE TRU/FLO 4” ..8568-012 WASHER.281  .625 .045 316 $0.50

LARGE TRU/FLO 4” ..8579-034 RETAINER RING 7/8 SHAFT SST $5.32

LARGE TRU/FLO 4” ..8579-306 SNAP RING ROTOR CLIP CG-475SJ $34.14

LARGE TRU/FLO 4” ..9406-002 CHAMBER PLATE 4 T/F PASSIV $21.74

LARGE TRU/FLO 4” ..9425-002 SEAL-THROTTLE VALVE  4 T/F $43.64

LARGE TRU/FLO 4” ..9429-012 THROTTLE VALVE ASSEMBLY SST 4 T/F $239.90

LARGE TRU/FLO 4” ..9439-002SP00 MEASURING CHAMBER ASSEMBLY 4 TRU/FLO PO $853.28

LARGE TRU/FLO 4” ..9484-009 DRIVE SLEEVE 4 T/F $11.12

LARGE TRU/FLO 4” ..9485-003 DRIVE ASSEMBLY   6 T/T & 4 T/F $16.92

LARGE TRU/FLO 4” ..9565-100 COVER ASSEMBLY 4 TRU/FLO $2,650.18

LARGE TRU/FLO 4” ..9571-200 THROTTLE VALVE ASSEMBLY 4 $111.10

LARGE TRU/FLO 4” ..9681-002 VALVE ASSEMBLY KIT 4 TRU/FLO $569.26

LARGE TRU/FLO 4” ..9685-002 METER GASKET KIT 4 T/F $128.80

LARGE TRU/FLO 4” ..9826-200 MEASURING CHAMBER COMP 3/4 T-10 MOLD TO SIZE $34.46

LARGE TRU/FLO 4” ..9831-001 STRAINER 3/4 T-10 $1.28

LARGE TRU/FLO 4” .11097-700 CALIBRATION VANE ASSEMBLY 4 T/F $62.00

LARGE TRU/FLO 4” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRU/FLO 4” .56311-003 DIAPHRAGM 3, 4 & 6 TRU/FLO MACH $40.26

LARGE TRU/FLO 6” ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE TRU/FLO 6” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE TRU/FLO 6” ..8316-275 O-RING  1/8 DIA  6 1/2 ID $10.00

LARGE TRU/FLO 6” ..8329-206 BOLT 3/8-16 3/4 LG SST HEX HD $1.28

LARGE TRU/FLO 6” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE TRU/FLO 6” ..8340-065 SEAL RING 6 TRU/FLO $59.58

LARGE TRU/FLO 6” ..8341-314 GASKET MAINCASE 6 T/F $9.26

LARGE TRU/FLO 6” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE TRU/FLO 6” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE TRU/FLO 6” ..8579-036 RETAINER RING 1 1/8 SHFT SST $7.40

LARGE TRU/FLO 6” ..8579-307 SNAP RING ROTOR CLIP CG-675SJ $138.30

LARGE TRU/FLO 6” ..9406-003 CHAMBER PLATE 6 T/F PASSIV $41.22

LARGE TRU/FLO 6” ..9425-003 SEAL-THROTTLE VALVE  6 T/F $45.26

LARGE TRU/FLO 6” ..9429-013 THROTTLE VALVE ASSEMBLY SST 6 T/F $264.60

LARGE TRU/FLO 6” ..9439-106 MEASURING CHAMBER COMPLETE 6" TRU/FLO $1,440.96

LARGE TRU/FLO 6” ..9484-010 DRIVE SLEEVE 6 T/F $12.24

LARGE TRU/FLO 6” ..9485-008 DRIVE ASSEMBLY   6 T/F $25.44

LARGE TRU/FLO 6” ..9566-100 COVER ASSEMBLY 6 TRU/FLO W/T10 $3,662.10

LARGE TRU/FLO 6” ..9571-300 THROTTLE VALVE ASSEMBLY 6 $143.30

LARGE TRU/FLO 6” ..9681-003 VALVE ASSEMBLY KIT 6 TRU/FLO $1,150.24

LARGE TRU/FLO 6” ..9685-003 METER GASKET KIT 6 T/F $152.96

LARGE TRU/FLO 6” ..9826-300 MEASURING CHAMBER COMP 1  T-10 MOLD TO SIZE $66.00

LARGE TRU/FLO 6” ..9831-002 STRAINER 1 T-10 $1.62

LARGE TRU/FLO 6” .11097-800 CALIBRATION VANE ASSEMBLY 6 T/F $69.44

LARGE TRU/FLO 6” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

FORM U676-24 (REPLACES U676-23) 4 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE TRU/FLO 6” .56311-003 DIAPHRAGM 3, 4 & 6 TRU/FLO MACH $40.26

LARGE PROTECTUS 4" ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

LARGE PROTECTUS 4" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS 4" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS 4" ..8316-271 O-RING  1/8 DIA  5 7/8 ID $6.94

LARGE PROTECTUS 4" ..8316-306 O  RING 3/16 DIA 6 1/4 ID $26.10

LARGE PROTECTUS 4" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS 4" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS 4" ..8368-407 CHECK VALVE  1 KITZ 3.15 $190.00

LARGE PROTECTUS 4" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS 4" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS 4" ..9760-100 KNUCKLE VALVE 4 HP PROTECTUS III $796.96

LARGE PROTECTUS 4" .11328-230 COVER ASSEMBLY  4 SEBILOY $966.00

LARGE PROTECTUS 4" .11345-200 CAL VANE SPINDLE ASSEMBLY 4 $20.13

LARGE PROTECTUS 4" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS 4" .11459-100 METER VALVE BODY  4 NEP HP PRO $4,749.50

LARGE PROTECTUS 4" .11460-101 STRAINER ASSEMBLY  4 NEP HP (PURC) $5,291.02

LARGE PROTECTUS 4" .11462-001 STRAINER BASKET 3&4 NEPTUNE HP $585.56

LARGE PROTECTUS 4" .11668-000 THROTTLE VALVE ASSEMBLY 4 HP PRO $56.36

LARGE PROTECTUS 4" .12763-001 ELEMENT SEAL 4" HP TURBINE $22.79

LARGE PROTECTUS 4" .60707-004 GASKET 4 ROUND FLANGE $12.88

LARGE PROTECTUS 6" ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

LARGE PROTECTUS 6" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS 6" ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE PROTECTUS 6" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE PROTECTUS 6" ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

LARGE PROTECTUS 6" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS 6" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS 6" ..8316-311 O-RING 3/16 DIA 15 ID $40.74

LARGE PROTECTUS 6" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS 6" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS 6" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS 6" ..8368-408 CHECK VALVE 1 1/2 KITZ 4.33 $340.00

LARGE PROTECTUS 6" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS 6" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS 6" ..9760-200 KNUCKLE VALVE 6 HP PROTECTUS III $957.96

LARGE PROTECTUS 6" .11328-330 COVER ASSEMBLY  6 SEBILOY $1,449.00

LARGE PROTECTUS 6" .11329-300 MEAS ELEM ASSEMBLY  6 $724.50

LARGE PROTECTUS 6" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS 6" .11459-200 METER VALVE BODY  6 NEP HP PRO $6,359.50

LARGE PROTECTUS 6" .11460-201 STRAINER ASSEMBLY  6 NEP HP (PURC) $6,740.02

LARGE PROTECTUS 6" .11462-002 STRAINER BASKET  6 NEPTUNE HP $731.90

LARGE PROTECTUS 6" .11668-100 THROTTLE VALVE ASSEMBLY 6 HP PRO $62.80

LARGE PROTECTUS 6" .11705-201 COVER  6 HPPIII METER VALVE $563.50

LARGE PROTECTUS 6" .12763-002 ELEMENT SEAL 6 HP TURB $30.45

LARGE PROTECTUS 6" .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE PROTECTUS 6" .60707-006 GASKET 6 ROUND FLANGE $14.50

LARGE PROTECTUS 6" .60708-103 FLANGE 1 1/2 OVAL MACH SEBILOY $80.50

LARGE PROTECTUS 6" .60709-001 GASKET 1 1/2 FLANGE-OVAL $4.50

LARGE PROTECTUS 6" .60720-002 VICTAULIC COUPLING 6 STYLE 77 $297.86

LARGE PROTECTUS 6" .60721-002 REPLACEMENT GASKET 6 VICTAULIC $125.58

LARGE PROTECTUS 8" ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE PROTECTUS 8" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS 8" ..5500-155 HPPIII VALVE RETAINER CLIP 8 $329.00

LARGE PROTECTUS 8" ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE PROTECTUS 8" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

FORM U676-24 (REPLACES U676-23) 5 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE PROTECTUS 8" ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE PROTECTUS 8" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS 8" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS 8" ..8316-309 O-RING 3/16 DIA 19 ID $71.48

LARGE PROTECTUS 8" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS 8" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS 8" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS 8" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS 8" ..8368-011 GATE VALVE 2 $281.76

LARGE PROTECTUS 8" ..8368-409 CHECK VALVE  2 KITZ 5.04 $500.00

LARGE PROTECTUS 8" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS 8" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS 8" ..9760-300 KNUCKLE VALVE 8 HP PROTECTUS III $1,529.50

LARGE PROTECTUS 8" .11328-430 COVER ASSEMBLY  8 SEBILOY $1,932.00

LARGE PROTECTUS 8" .11329-400 MEAS ELEM ASSEMBLY  8 $966.00

LARGE PROTECTUS 8" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS 8" .11459-300 METER VALVE BODY  8 NEP HP PRO $7,064.24

LARGE PROTECTUS 8" .11460-301 STRAINER ASSEMBLY  8 NEP HP (PURC) $8,667.90

LARGE PROTECTUS 8" .11462-003 STRAINER BASKET  8 NEPTUNE HP $968.10

LARGE PROTECTUS 8" .11668-200 THROTTLE VALVE ASSEMBLY 8&10 HPPRO $69.26

LARGE PROTECTUS 8" .11705-301 COVER  8 HPPIII METER VALVE $724.50

LARGE PROTECTUS 8" .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE PROTECTUS 8" .60707-008 GASKET 8 ROUND FLANGE $15.78

LARGE PROTECTUS 8" .60708-203 FLANGE 2 OVAL MACH SEBILOY $69.30

LARGE PROTECTUS 8" .60709-002 GASKET 2 FLANGE-OVAL $5.64

LARGE PROTECTUS 8" .60721-003 REPLACEMENT GASKET 8 VICTAULIC $136.86

LARGE PROTECTUS 10" ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE PROTECTUS 10" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS 10" ..5500-155 HPPIII VALVE RETAINER CLIP 8 $329.00

LARGE PROTECTUS 10" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE PROTECTUS 10" ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE PROTECTUS 10" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS 10" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS 10" ..8316-310 O-RING 3/16 DIA 21 ID $68.44

LARGE PROTECTUS 10" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS 10" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS 10" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS 10" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS 10" ..8368-011 GATE VALVE 2 $281.76

LARGE PROTECTUS 10" ..8368-409 CHECK VALVE  2 KITZ 5.04 $500.00

LARGE PROTECTUS 10" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS 10" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS 10" ..9760-300 KNUCKLE VALVE 8 HP PROTECTUS III $1,529.50

LARGE PROTECTUS 10" .11328-530 COVER ASSEMBLY 10 SEBILOY $2,415.00

LARGE PROTECTUS 10" .11329-500 MEAS ELEM ASSEMBLY 10 $1,207.50

LARGE PROTECTUS 10" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS 10" .11459-400 METER VALVE BODY 10 NEP HP PRO $7,313.02

LARGE PROTECTUS 10" .11460-401 STRAINER ASSEMBLY 10 NEP HP (PURC) $12,578.00

LARGE PROTECTUS 10" .11462-004 STRAINER BASKET 10 NEPTUNE HP $1,632.06

LARGE PROTECTUS 10" .11668-200 THROTTLE VALVE ASSEMBLY 8&10 HPPRO $69.26

LARGE PROTECTUS 10" .11705-301 COVER  8 HPPIII METER VALVE $724.50

LARGE PROTECTUS 10" .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE PROTECTUS 10" .60707-010 GASKET 10 ROUND FLANGE $40.26

LARGE PROTECTUS 10" .60721-004 REPLACEMENT GASKET 10 VICTAULIC $136.86

LARGE PROTECTUS SS 4" ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

LARGE PROTECTUS SS 4" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS SS 4" ..8307-019 BOLT HEX  5/8-11 2 1/2 SST 316 $8.86

LARGE PROTECTUS SS 4" ..8307-032 BOLT HEX  3/4-10 2 3/4 SST 316 $15.30

FORM U676-24 (REPLACES U676-23) 6 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE PROTECTUS SS 4" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS SS 4" ..8316-271 O-RING  1/8 DIA  5 7/8 ID $6.94

LARGE PROTECTUS SS 4" ..8316-306 O  RING 3/16 DIA 6 1/4 ID $26.10

LARGE PROTECTUS SS 4" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS SS 4" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS SS 4" ..8368-407 CHECK VALVE  1 KITZ 3.15 $190.00

LARGE PROTECTUS SS 4" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS SS 4" ..8545-416 NUT  3/4-10 HEX    -DBL CHMF 316 SST $6.44

LARGE PROTECTUS SS 4" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS SS 4" ..9760-100 KNUCKLE VALVE 4 HP PROTECTUS III $796.96

LARGE PROTECTUS SS 4" .11328-230 COVER ASSEMBLY  4 SEBILOY $966.00

LARGE PROTECTUS SS 4" .11345-200 CAL VANE SPINDLE ASSEMBLY 4 $20.13

LARGE PROTECTUS SS 4" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS SS 4" .11459-100 METER VALVE BODY  4 NEP HP PRO $4,749.50

LARGE PROTECTUS SS 4" .11460-101 STRAINER ASSEMBLY  4 NEP HP (PURC) $5,291.02

LARGE PROTECTUS SS 4" .11462-001 STRAINER BASKET 3&4 NEPTUNE HP $585.56

LARGE PROTECTUS SS 4" .11668-000 THROTTLE VALVE ASSEMBLY 4 HP PRO $56.36

LARGE PROTECTUS SS 4" .11705-102 COVER METER VALVE STAINSTEEL STEEL $1,000.00

LARGE PROTECTUS SS 4" .12763-001 ELEMENT SEAL 4" HP TURBINE $22.79

LARGE PROTECTUS SS 4" .60707-004 GASKET 4 ROUND FLANGE $12.88

LARGE PROTECTUS SS 6" ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

LARGE PROTECTUS SS 6" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS SS 6" ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE PROTECTUS SS 6" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE PROTECTUS SS 6" ..8307-032 BOLT HEX  3/4-10 2 3/4 SST 316 $15.30

LARGE PROTECTUS SS 6" ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

LARGE PROTECTUS SS 6" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS SS 6" ..8316-311 O-RING 3/16 DIA 15 ID $40.74

LARGE PROTECTUS SS 6" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS SS 6" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS SS 6" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS SS 6" ..8368-408 CHECK VALVE 1 1/2 KITZ 4.33 $340.00

LARGE PROTECTUS SS 6" ..8545-416 NUT  3/4-10 HEX    -DBL CHMF 316 SST $6.44

LARGE PROTECTUS SS 6" ..8568-023 WASHER.812 1.469 .134 316  3/4 $3.40

LARGE PROTECTUS SS 6" ..9760-200 KNUCKLE VALVE 6 HP PROTECTUS III $957.96

LARGE PROTECTUS SS 6" .11328-330 COVER ASSEMBLY  6 SEBILOY $1,449.00

LARGE PROTECTUS SS 6" .11329-300 MEAS ELEM ASSEMBLY  6 $724.50

LARGE PROTECTUS SS 6" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS SS 6" .11459-200 METER VALVE BODY  6 NEP HP PRO $6,359.50

LARGE PROTECTUS SS 6" .11460-201 STRAINER ASSEMBLY  6 NEP HP (PURC) $6,740.02

LARGE PROTECTUS SS 6" .11462-002 STRAINER BASKET  6 NEPTUNE HP $731.90

LARGE PROTECTUS SS 6" .11668-100 THROTTLE VALVE ASSEMBLY 6 HP PRO $62.80

LARGE PROTECTUS SS 6" .11705-201 COVER  6 HPPIII METER VALVE $563.50

LARGE PROTECTUS SS 6" .11705-202 COVER 6 HPPIII METER VALVE SST $1,200.00

LARGE PROTECTUS SS 6" .11957-202 STRAINER COVER 6" STAINLESS STEEL $1,700.00

LARGE PROTECTUS SS 6" .12763-002 ELEMENT SEAL 6 HP TURB $30.45

LARGE PROTECTUS SS 6" .12993-200 METER VALVE BODY 6" $7,000.00

LARGE PROTECTUS SS 6" .12994-204 STRAINER BODY 6" W/SST COVER $6,496.25

LARGE PROTECTUS SS 6" .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE PROTECTUS SS 6" .60707-006 GASKET 6 ROUND FLANGE $14.50

LARGE PROTECTUS SS 6" .60708-103 FLANGE 1 1/2 OVAL MACH SEBILOY $80.50

LARGE PROTECTUS SS 6" .60709-001 GASKET 1 1/2 FLANGE-OVAL $4.50

LARGE PROTECTUS SS 6" .60720-002 VICTAULIC COUPLING 6 STYLE 77 $297.86

LARGE PROTECTUS SS 6" .60721-002 REPLACEMENT GASKET 6 VICTAULIC $125.58

LARGE PROTECTUS SS 8" ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE PROTECTUS SS 8" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS SS 8" ..5500-155 HPPIII VALVE RETAINER CLIP 8 $329.00

LARGE PROTECTUS SS 8" ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

FORM U676-24 (REPLACES U676-23) 7 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE PROTECTUS SS 8" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE PROTECTUS SS 8" ..8307-032 BOLT HEX  3/4-10 2 3/4 SST 316 $15.30

LARGE PROTECTUS SS 8" ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE PROTECTUS SS 8" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS SS 8" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS SS 8" ..8316-309 O-RING 3/16 DIA 19 ID $71.48

LARGE PROTECTUS SS 8" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS SS 8" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS SS 8" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS SS 8" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS SS 8" ..8368-011 GATE VALVE 2 $281.76

LARGE PROTECTUS SS 8" ..8368-409 CHECK VALVE  2 KITZ 5.04 $500.00

LARGE PROTECTUS SS 8" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS SS 8" ..8545-416 NUT  3/4-10 HEX    -DBL CHMF 316 SST $6.44

LARGE PROTECTUS SS 8" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS SS 8" ..8545-430 NUT 1 1/8-7 HEX DBL CHMF 316 SST $10.50

LARGE PROTECTUS SS 8" ..8568-023 WASHER.812 1.469 .134 316  3/4 $3.40

LARGE PROTECTUS SS 8" ..9760-300 KNUCKLE VALVE 8 HP PROTECTUS III $1,529.50

LARGE PROTECTUS SS 8" .11328-430 COVER ASSEMBLY  8 SEBILOY $1,932.00

LARGE PROTECTUS SS 8" .11329-400 MEAS ELEM ASSEMBLY  8 $966.00

LARGE PROTECTUS SS 8" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS SS 8" .11459-300 METER VALVE BODY  8 NEP HP PRO $7,064.24

LARGE PROTECTUS SS 8" .11460-301 STRAINER ASSEMBLY  8 NEP HP (PURC) $8,667.90

LARGE PROTECTUS SS 8" .11462-003 STRAINER BASKET  8 NEPTUNE HP $968.10

LARGE PROTECTUS SS 8" .11668-200 THROTTLE VALVE ASSEMBLY 8&10 HPPRO $69.26

LARGE PROTECTUS SS 8" .11705-301 COVER  8 HPPIII METER VALVE $724.50

LARGE PROTECTUS SS 8" .11705-302 COVER 8 & 10 HPPIII METER VALVE SST $1,500.00

LARGE PROTECTUS SS 8" .11957-302 COVER 8 STRAINER BODY STANLESS STEEL $5,000.00

LARGE PROTECTUS SS 8" .12993-300 METER VALVE BODY 8" $8,000.00

LARGE PROTECTUS SS 8" .12994-302 STRAINER BODY 8" W/SST COVER $11,000.00

LARGE PROTECTUS SS 8" .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE PROTECTUS SS 8" .60707-008 GASKET 8 ROUND FLANGE $15.78

LARGE PROTECTUS SS 8" .60708-203 FLANGE 2 OVAL MACH SEBILOY $69.30

LARGE PROTECTUS SS 8" .60709-002 GASKET 2 FLANGE-OVAL $5.64

LARGE PROTECTUS SS 8" .60721-003 REPLACEMENT GASKET 8 VICTAULIC $136.86

LARGE PROTECTUS SS 10" ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE PROTECTUS SS 10" ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE PROTECTUS SS 10" ..5500-155 HPPIII VALVE RETAINER CLIP 8 $329.00

LARGE PROTECTUS SS 10" ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE PROTECTUS SS 10" ..8307-032 BOLT HEX  3/4-10 2 3/4 SST 316 $15.30

LARGE PROTECTUS SS 10" ..8315-028 PIPE PLUG 2 MACHINING $35.10

LARGE PROTECTUS SS 10" ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE PROTECTUS SS 10" ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE PROTECTUS SS 10" ..8316-310 O-RING 3/16 DIA 21 ID $68.44

LARGE PROTECTUS SS 10" ..8316-312 O-RING 3/16 DIA  9 3/4 ID $27.10

LARGE PROTECTUS SS 10" ..8327-012 NUT SELF LOCK 1/4-20 HEX LIGHT $2.26

LARGE PROTECTUS SS 10" ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE PROTECTUS SS 10" ..8352-112 STUD  1/4 20 UNC-2A 1.125 316 $4.84

LARGE PROTECTUS SS 10" ..8368-011 GATE VALVE 2 $281.76

LARGE PROTECTUS SS 10" ..8368-409 CHECK VALVE  2 KITZ 5.04 $500.00

LARGE PROTECTUS SS 10" ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

LARGE PROTECTUS SS 10" ..8545-416 NUT  3/4-10 HEX    -DBL CHMF 316 SST $6.44

LARGE PROTECTUS SS 10" ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE PROTECTUS SS 10" ..8545-430 NUT 1 1/8-7 HEX DBL CHMF 316 SST $10.50

LARGE PROTECTUS SS 10" ..8568-023 WASHER.812 1.469 .134 316  3/4 $3.40

LARGE PROTECTUS SS 10" ..9760-300 KNUCKLE VALVE 8 HP PROTECTUS III $1,529.50

LARGE PROTECTUS SS 10" .11328-530 COVER ASSEMBLY 10 SEBILOY $2,415.00

LARGE PROTECTUS SS 10" .11329-500 MEAS ELEM ASSEMBLY 10 $1,207.50

FORM U676-24 (REPLACES U676-23) 8 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE PROTECTUS SS 10" .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE PROTECTUS SS 10" .11459-400 METER VALVE BODY 10 NEP HP PRO $7,313.02

LARGE PROTECTUS SS 10" .11460-401 STRAINER ASSEMBLY 10 NEP HP (PURC) $12,578.00

LARGE PROTECTUS SS 10" .11462-004 STRAINER BASKET 10 NEPTUNE HP $1,632.06

LARGE PROTECTUS SS 10" .11668-200 THROTTLE VALVE ASSEMBLY 8&10 HPPRO $69.26

LARGE PROTECTUS SS 10" .11705-301 COVER  8 HPPIII METER VALVE $724.50

LARGE PROTECTUS SS 10" .11705-302 COVER 8 & 10 HPPIII METER VALVE SST $1,500.00

LARGE PROTECTUS SS 10" .12994-403 STRAINER BODY 10" W/SST COVER $13,000.00

LARGE PROTECTUS SS 10" .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE PROTECTUS SS 10" .60707-010 GASKET 10 ROUND FLANGE $40.26

LARGE PROTECTUS SS 10" .60721-004 REPLACEMENT GASKET 10 VICTAULIC $136.86

PROTECTUS TRIDENT 4” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

PROTECTUS TRIDENT 4” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

PROTECTUS TRIDENT 4” ..8344-012 BUSHING .1295ID .310 L .3115OD $16.60

PROTECTUS TRIDENT 4” ..8383-077 SCREW 8-32 5/16 LG BND HD SST $0.24

PROTECTUS TRIDENT 4” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

PROTECTUS TRIDENT 4” ..8568-012 WASHER.281  .625 .045 316 $0.50

PROTECTUS TRIDENT 4” ..9441-001 GEAR TRAIN ASSEMBLY 2,3 & 4 T/T $92.58

PROTECTUS TRIDENT 4” ..9450-001 DRIVE PINION 2,3 & 4 T/T $1.52

PROTECTUS TRIDENT 4” ..9484-007 DRIVE SLEEVE 4 T/T $8.86

PROTECTUS TRIDENT 4” ..9485-002 DRIVE ASSEMBLY   4 T/T $20.62

PROTECTUS TRIDENT 4” ..9491-001 DRIVE END GEAR TRAIN TRIDENT TURBINE $0.82

PROTECTUS TRIDENT 4” ..9517-001 OUTLET  4 T/T $382.38

PROTECTUS TRIDENT 4” ..9552-001 INLET  4 T/T MACH $257.60

PROTECTUS TRIDENT 4” ..9554-101 THRST SCREW ASSEMBLY  3-8 T/T,T/F $56.36

PROTECTUS TRIDENT 4” ..9576-002 OUTLET ASSEMBLY  4 T/T & T/F $474.96

PROTECTUS TRIDENT 4” ..9655-002 INLET ASSEMBLY   4 T/T & T/F $257.60

PROTECTUS TRIDENT 4” .11097-300 CALIBRATION VANE ASSEMBLY 4 T/T $61.00

PROTECTUS TRIDENT 4” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

PROTECTUS TRIDENT 6” ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

PROTECTUS TRIDENT 6” ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

PROTECTUS TRIDENT 6” ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

PROTECTUS TRIDENT 6” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

PROTECTUS TRIDENT 6” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

PROTECTUS TRIDENT 6” ..8341-203 GASKET, M/C  6 T/T $6.20

PROTECTUS TRIDENT 6” ..8344-015 BUSHING .316 ID .500 L .5015OD $37.84

PROTECTUS TRIDENT 6” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

PROTECTUS TRIDENT 6” ..9441-101 GEAR TRAIN ASSEMBLY 6 & 8 T/T,T/F $149.74

PROTECTUS TRIDENT 6” ..9491-001 DRIVE END GEAR TRAIN TRIDENT TURBINE $0.82

PROTECTUS TRIDENT 6” ..9554-101 THRST SCREW ASSEMBLY  3-8 T/T,T/F $56.36

PROTECTUS TRIDENT 6” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

PROTECTUS TRIDENT 6” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

PROTECTUS TRIDENT 6” .60709-001 GASKET 1 1/2 FLANGE-OVAL $4.50

PROTECTUS TRIDENT 8” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

PROTECTUS TRIDENT 8” ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

PROTECTUS TRIDENT 8” ..8315-028 PIPE PLUG 2 MACHINING $35.10

PROTECTUS TRIDENT 8” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

PROTECTUS TRIDENT 8” ..8341-205 GASKET, M/C  8 T/T $9.66

PROTECTUS TRIDENT 8” ..8344-015 BUSHING .316 ID .500 L .5015OD $37.84

PROTECTUS TRIDENT 8” ..8368-011 GATE VALVE 2 $281.76

PROTECTUS TRIDENT 8” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

PROTECTUS TRIDENT 8” ..9441-101 GEAR TRAIN ASSEMBLY 6 & 8 T/T,T/F $149.74

PROTECTUS TRIDENT 8” ..9490-001 DRIVE END, MAGNET $0.82

PROTECTUS TRIDENT 8” ..9491-001 DRIVE END GEAR TRAIN TRIDENT TURBINE $0.82

PROTECTUS TRIDENT 8” ..9493-502 WORM 1 1/2 & 2 HPT $3.40

PROTECTUS TRIDENT 8” ..9554-101 THRST SCREW ASSEMBLY  3-8 T/T,T/F $56.36

FORM U676-24 (REPLACES U676-23) 9 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

PROTECTUS TRIDENT 8” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

PROTECTUS TRIDENT 8” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

PROTECTUS TRIDENT 10” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

PROTECTUS TRIDENT 10” ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

PROTECTUS TRIDENT 10” ..8315-028 PIPE PLUG 2 MACHINING $35.10

PROTECTUS TRIDENT 10” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

PROTECTUS TRIDENT 10” ..8341-205 GASKET, M/C  8 T/T $9.66

PROTECTUS TRIDENT 10” ..8344-015 BUSHING .316 ID .500 L .5015OD $37.84

PROTECTUS TRIDENT 10” ..8368-011 GATE VALVE 2 $281.76

PROTECTUS TRIDENT 10” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

PROTECTUS TRIDENT 10” ..9441-101 GEAR TRAIN ASSEMBLY 6 & 8 T/T,T/F $149.74

PROTECTUS TRIDENT 10” ..9490-001 DRIVE END, MAGNET $0.82

PROTECTUS TRIDENT 10” ..9491-001 DRIVE END GEAR TRAIN TRIDENT TURBINE $0.82

PROTECTUS TRIDENT 10” ..9554-101 THRST SCREW ASSEMBLY  3-8 T/T,T/F $56.36

PROTECTUS TRIDENT 10” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

PROTECTUS TRIDENT 10” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE HP TURBINE 1 1/2” ...616-000 FLANGE WASHER-5/8 BOLT GALVNZ $1.28

LARGE HP TURBINE 1 1/2” ..1317-004 GASKET,OVAL FLANGE 1 1/2 DROP $3.54

LARGE HP TURBINE 1 1/2” ..8305-042 SCREW  10-32   1/2  PAN HD SST $0.64

LARGE HP TURBINE 1 1/2” ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE HP TURBINE 1 1/2” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 1 1/2” ..8340-062 SEAL RING 1 1/2 & 2 HP $40.26

LARGE HP TURBINE 1 1/2” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 1 1/2” ..9485-012 DRIVE ASSEMBLY   2 HP TURBINE $18.20

LARGE HP TURBINE 1 1/2” ..9855-001 STRAINER 1 1/2 & 2 HP-TURBINE $12.08

LARGE HP TURBINE 1 1/2” ..9856-001 LOCK RING HP-TURBINE 1 1/2 & 2 $2.10

LARGE HP TURBINE 1 1/2” ..9857-003 GASKET MAINCASE 1 1/2 & 2 HPT ACCOPAC CS 301 $3.22

LARGE HP TURBINE 1 1/2” ..9859-200 COVER ASSEMBLY 1 1/2 & 2 HPT $413.30

LARGE HP TURBINE 1 1/2” ..9861-200 MEASURING CHAMBER ASSEMBLY 1 1/2" & 2" HPT $450.80

LARGE HP TURBINE 1 1/2” .11097-110 CALIBRATION VANE ASSEMBLY 2 HP TUR $57.96

LARGE HP TURBINE 1 1/2” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE HP TURBINE 1 1/2” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE HP TURBINE 1 1/2” .60705-101 FLANGE KIT 1 1/2 BRONZE ELECTRO $86.00

LARGE HP TURBINE 2” ..1321-005 GASKET,OVAL FLANGE 2 DROP $3.70

LARGE HP TURBINE 2” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE HP TURBINE 2” ..8305-042 SCREW  10-32   1/2  PAN HD SST $0.64

LARGE HP TURBINE 2” ..8307-009 BOLT HEX  3/4-10 2 1/2 ZINC PL $3.86

LARGE HP TURBINE 2” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 2” ..8340-062 SEAL RING 1 1/2 & 2 HP $40.26

LARGE HP TURBINE 2” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 2” ..9485-012 DRIVE ASSEMBLY   2 HP TURBINE $18.20

LARGE HP TURBINE 2” ..9855-001 STRAINER 1 1/2 & 2 HP-TURBINE $12.08

LARGE HP TURBINE 2” ..9856-001 LOCK RING HP-TURBINE 1 1/2 & 2 $2.10

LARGE HP TURBINE 2” ..9857-003 GASKET MAINCASE 1 1/2 & 2 HPT ACCOPAC CS 301 $3.22

LARGE HP TURBINE 2” ..9859-200 COVER ASSEMBLY 1 1/2 & 2 HPT $413.30

LARGE HP TURBINE 2” ..9861-200 MEASURING CHAMBER ASSEMBLY 1 1/2" & 2" HPT $450.80

LARGE HP TURBINE 2” .11097-110 CALIBRATION VANE ASSEMBLY 2 HP TUR $57.96

LARGE HP TURBINE 2” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE HP TURBINE 2” .60705-201 FLANGE KIT  2 BRONZE ELECTRO $108.00

LARGE HP TURBINE 3” ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE HP TURBINE 3” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 3” ..8316-270 O-RING  1/8 DIA  4 ID $3.86

LARGE HP TURBINE 3” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 3” .11328-130 COVER ASSEMBLY  3 SEBILOY $724.50

LARGE HP TURBINE 3” .11329-100 MEAS ELEM ASSEMBLY  3 $371.00

LARGE HP TURBINE 3” .11335-103 SEAL TUBE 3 HPT $3.62

FORM U676-24 (REPLACES U676-23) 10 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE HP TURBINE 3” .11347-110 MAGNET/GEAR ASSEMBLY  3 $6.12

LARGE HP TURBINE 3” .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE HP TURBINE 3” .11361-002 COVER 3 NEP HP TURB MACH $257.78

LARGE HP TURBINE 3” .12768-001 GEAR CALIBRATION VANE 3-10 HPT $33.64

LARGE HP TURBINE 3” .12769-001 DRIVE PINION 3 HPT $20.28

LARGE HP TURBINE 3” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE HP TURBINE 3” .60705-300 FLANGE KIT  3 C/I ELECTRO $164.00

LARGE HP TURBINE 3” .60705-301 FLANGE KIT  3 BRONZE ELECTRO $419.00

LARGE HP TURBINE 3” .60707-003 GASKET 3 ROUND FLANGE $10.16

LARGE HP TURBINE 4” ..8307-026 BOLT HEX  5/8-11 3 ZINC PL $1.94

LARGE HP TURBINE 4” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 4” ..8316-271 O-RING  1/8 DIA  5 7/8 ID $6.94

LARGE HP TURBINE 4” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE HP TURBINE 4” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 4” .11328-230 COVER ASSEMBLY  4 SEBILOY $966.00

LARGE HP TURBINE 4” .11329-200 MEAS ELEM ASSEMBLY  4 $483.00

LARGE HP TURBINE 4” .11330-002 COVER 4 NEP HP TURB MACH $315.00

LARGE HP TURBINE 4” .11347-210 MAGNET/GEAR ASSEMBLY  4 $8.06

LARGE HP TURBINE 4” .12763-001 ELEMENT SEAL 4" HP TURBINE $22.79

LARGE HP TURBINE 4” .12768-001 GEAR CALIBRATION VANE 3-10 HPT $33.64

LARGE HP TURBINE 4” .12769-002 DRIVE PINION 4 HPT $20.28

LARGE HP TURBINE 4” .60705-400 FLANGE KIT  4 C/I ELECTRO $247.00

LARGE HP TURBINE 4” .60705-401 FLANGE KIT  4 BRONZE ELECTRO $580.00

LARGE HP TURBINE 4” .60707-004 GASKET 4 ROUND FLANGE $12.88

LARGE HP TURBINE 6” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE HP TURBINE 6” ..8307-013 BOLT HEX  3/4-10 3 1/4 ZINC PL $7.26

LARGE HP TURBINE 6” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 6” ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE HP TURBINE 6” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE HP TURBINE 6” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 6” .11328-330 COVER ASSEMBLY  6 SEBILOY $1,449.00

LARGE HP TURBINE 6” .11329-300 MEAS ELEM ASSEMBLY  6 $724.50

LARGE HP TURBINE 6” .11347-310 MAGNET/GEAR ASSEMBLY  6 $9.66

LARGE HP TURBINE 6” .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE HP TURBINE 6” .12768-001 GEAR CALIBRATION VANE 3-10 HPT $33.64

LARGE HP TURBINE 6” .12769-003 DRIVE PINION 6 HPT $25.76

LARGE HP TURBINE 6” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE HP TURBINE 6” .60705-600 FLANGE KIT  6 C/I ELECTRO $395.00

LARGE HP TURBINE 6” .60705-601 FLANGE KIT  6 BRONZE ELECTRO $935.00

LARGE HP TURBINE 6” .60707-006 GASKET 6 ROUND FLANGE $14.50

LARGE HP TURBINE 8” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

LARGE HP TURBINE 8” ..8307-013 BOLT HEX  3/4-10 3 1/4 ZINC PL $7.26

LARGE HP TURBINE 8” ..8316-022 O-RING 1/16 DIA  .250 ID $0.50

LARGE HP TURBINE 8” ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE HP TURBINE 8” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE HP TURBINE 8” ..8545-417 NUT  1/4 20 HEX JAM-DBL CHMF 18-8 SST $0.50

LARGE HP TURBINE 8” .11328-430 COVER ASSEMBLY  8 SEBILOY $1,932.00

LARGE HP TURBINE 8” .11329-400 MEAS ELEM ASSEMBLY  8 $966.00

LARGE HP TURBINE 8” .11347-410 MAGNET/GEAR ASSEMBLY  8 $11.28

LARGE HP TURBINE 8” .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE HP TURBINE 8” .12768-001 GEAR CALIBRATION VANE 3-10 HPT $33.64

LARGE HP TURBINE 8” .12769-004 DRIVE PINION 8 HPT $29.00

LARGE HP TURBINE 8” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE HP TURBINE 8” .60705-800 FLANGE KIT  8 C/I ELECTRO $598.00

LARGE HP TURBINE 8” .60707-008 GASKET 8 ROUND FLANGE $15.78

FORM U676-24 (REPLACES U676-23) 11 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE HP TURBINE 10” ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE HP TURBINE 10” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE HP TURBINE 10” .11328-530 COVER ASSEMBLY 10 SEBILOY $2,415.00

LARGE HP TURBINE 10” .11329-500 MEAS ELEM ASSEMBLY 10 $1,207.50

LARGE HP TURBINE 10” .11347-510 MAGNET/GEAR ASSEMBLY 10 $12.88

LARGE HP TURBINE 10” .11354-000 CAL VANE STEM ASSEMBLY 3,4,6,8,10 $30.92

LARGE HP TURBINE 10” .12768-001 GEAR CALIBRATION VANE 3-10 HPT $33.64

LARGE HP TURBINE 10” .12769-005 DRIVE PINION 10 HPT $33.00

LARGE HP TURBINE 10” .60705-900 FLANGE KIT 10 C/I ELECTRO $1,172.00

LARGE TRIDENT TURBINE 3” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

LARGE TRIDENT TURBINE 3” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE TRIDENT TURBINE 3” ..8341-304 GASKET, MAINCASE 3 & 4 T/T $4.18

LARGE TRIDENT TURBINE 3” ..8568-012 WASHER.281  .625 .045 316 $0.50

LARGE TRIDENT TURBINE 3” ..9482-003 COVER ASSEMBLY  3 T/T SEBILOY $1,118.14

LARGE TRIDENT TURBINE 3” ..9484-006 DRIVE SLEEVE 3 T/T $9.82

LARGE TRIDENT TURBINE 3” ..9485-001 DRIVE ASSEMBLY   3 T/T & F/H $15.00

LARGE TRIDENT TURBINE 3” ..9576-001 OUTLET ASSEMBLY  3 T/T & T/F $452.42

LARGE TRIDENT TURBINE 3” ..9655-001 INLET ASSEMBLY   3 T/T & T/F $229.26

LARGE TRIDENT TURBINE 3” .11097-200 CALIBRATION VANE ASSEMBLY 3 T/T $59.58

LARGE TRIDENT TURBINE 3” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRIDENT TURBINE 4” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

LARGE TRIDENT TURBINE 4” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE TRIDENT TURBINE 4” ..8568-012 WASHER.281  .625 .045 316 $0.50

LARGE TRIDENT TURBINE 4” ..9484-007 DRIVE SLEEVE 4 T/T $8.86

LARGE TRIDENT TURBINE 4” ..9485-002 DRIVE ASSEMBLY   4 T/T $20.62

LARGE TRIDENT TURBINE 4” ..9576-002 OUTLET ASSEMBLY  4 T/T & T/F $474.96

LARGE TRIDENT TURBINE 4” ..9655-002 INLET ASSEMBLY   4 T/T & T/F $257.60

LARGE TRIDENT TURBINE 4” .11097-300 CALIBRATION VANE ASSEMBLY 4 T/T $61.00

LARGE TRIDENT TURBINE 4” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRIDENT TURBINE 6” ..8329-206 BOLT 3/8-16 3/4 LG SST HEX HD $1.28

LARGE TRIDENT TURBINE 6” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE TRIDENT TURBINE 6” ..8341-203 GASKET, M/C  6 T/T $6.20

LARGE TRIDENT TURBINE 6” ..9484-003 DRIVE SLEEVE 6 T/T $12.56

LARGE TRIDENT TURBINE 6” ..9485-003 DRIVE ASSEMBLY   6 T/T & 4 T/F $16.92

LARGE TRIDENT TURBINE 6” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRIDENT TURBINE 8” ..8329-422 BOLT 1/2-13 7/8 LG SST HEX 316 $17.70

LARGE TRIDENT TURBINE 8” ..8341-205 GASKET, M/C  8 T/T $9.66

LARGE TRIDENT TURBINE 8” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE TRIDENT TURBINE 10” ..8329-427 BOLT 1/2-13 2 1/4L SST HEX 316 $5.80

LARGE TRIDENT TURBINE 10” ..8341-205 GASKET, M/C  8 T/T $9.66

LARGE TRIDENT TURBINE 10” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

LARGE FIRE SERVICE 3” ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE FIRE SERVICE 3” ..8307-011 BOLT HEX  5/8-11 2 1/4 ZINC PL $3.86

LARGE FIRE SERVICE 3” ..8316-270 O-RING  1/8 DIA  4 ID $3.86

LARGE FIRE SERVICE 3” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE FIRE SERVICE 3” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE FIRE SERVICE 3” .60707-003 GASKET 3 ROUND FLANGE $10.16

LARGE FIRE SERVICE 4” ..8307-007 BOLT HEX  5/8-11 2 1/2 STEEL $2.74

LARGE FIRE SERVICE 4” ..8316-271 O-RING  1/8 DIA  5 7/8 ID $6.94

LARGE FIRE SERVICE 4” ..8329-405 BOLT 1/2-13 1 1/4L SST HEX 316 $2.58

LARGE FIRE SERVICE 4” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE FIRE SERVICE 4” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

FORM U676-24 (REPLACES U676-23) 12 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE FIRE SERVICE 4” .60707-004 GASKET 4 ROUND FLANGE $12.88

LARGE FIRE SERVICE 6” ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE FIRE SERVICE 6” ..8307-013 BOLT HEX  3/4-10 3 1/4 ZINC PL $7.26

LARGE FIRE SERVICE 6” ..8315-027 PIPE PLUG 1 1/2 MACHINING $21.42

LARGE FIRE SERVICE 6” ..8316-311 O-RING 3/16 DIA 15 ID $40.74

LARGE FIRE SERVICE 6” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE FIRE SERVICE 6” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE FIRE SERVICE 6” .60707-006 GASKET 6 ROUND FLANGE $14.50

LARGE FIRE SERVICE 8” ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE FIRE SERVICE 8” ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE FIRE SERVICE 8” ..8316-309 O-RING 3/16 DIA 19 ID $71.48

LARGE FIRE SERVICE 8” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

LARGE FIRE SERVICE 8” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE FIRE SERVICE 8” .60707-008 GASKET 8 ROUND FLANGE $15.78

LARGE FIRE SERVICE 10” ..2252-000 AIR VENT WASHER HPP III & FIRE SERVICE $5.20

LARGE FIRE SERVICE 10” ..8316-272 O-RING  1/8 DIA  7 3/4 ID $13.50

LARGE FIRE SERVICE 10” ..8316-310 O-RING 3/16 DIA 21 ID $68.44

LARGE FIRE SERVICE 10” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

CI MACH 10 3” ..8316-806 O-RING SQ PROFILE 3 COVER SEAL MACH10 $3.00

CI MACH 10 3” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

CI MACH 10 4” ..8316-804 O-RING SQ PROFILE 4 COVER SEAL MACH10 $3.00

CI MACH 10 4” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

CI MACH 10 6” ..8316-805 O-RING SQ PROFILE 6 COVER SEAL MACH10 $3.00

CI MACH 10 6” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

CI MACH 10 8” ..8316-807 O-RING SQ PROFILE 8" COVER SEAL MACH 10 $18.00

CI MACH 10 8” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

CI MACH 10 10” ..8316-808 O-RING SQ PROFILE 10" COVER SEAL MACH 10 $18.00

CI MACH 10 10” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

CI MACH 10 12” ..8316-809 O-RING SQ PROFILE 12" COVER SEAL MACH 10 $18.00

CI MACH 10 12” ..8394-204 SCREW W/UCUT 8-32X1 CROSS REC PAN HEAD $4.40

FIRE HYDRANT METER 3” ..8329-007 BOLT 1/4-20 3/4 LG SST HEX HD 316 $0.82

FIRE HYDRANT METER 3” ..8340-029 GASKET 2.475  X 3.180 X .250 $4.84

FIRE HYDRANT METER 3” ..8341-304 GASKET, MAINCASE 3 & 4 T/T $4.18

FIRE HYDRANT METER 3” ..8368-011 GATE VALVE 2 $281.76

FIRE HYDRANT METER 3” ..8568-012 WASHER.281  .625 .045 316 $0.50

FIRE HYDRANT METER 3” ..9482-003 COVER ASSEMBLY  3 T/T SEBILOY $1,118.14

FIRE HYDRANT METER 3” ..9484-006 DRIVE SLEEVE 3 T/T $9.82

FIRE HYDRANT METER 3” ..9485-001 DRIVE ASSEMBLY   3 T/T & F/H $15.00

FIRE HYDRANT METER 3” ..9630-002 BODY 3 F/H 2.22 DIA COATED $474.30

FIRE HYDRANT METER 3” ..9631-002 COUPLING ASSEMBLY 3 F/H W/STR $294.30

FIRE HYDRANT METER 3” ..9634-003 OUTLET NIPPLE 3 F/H  2 1/2 X 2 $144.26

FIRE HYDRANT METER 3” ..9639-104 COVER, M/C 3 & 4 T/T MACH SEBILOY $261.96

FIRE HYDRANT METER 3” .11097-200 CALIBRATION VANE ASSEMBLY 3 T/T $59.58

FIRE HYDRANT METER 3” .11098-001 PROTECTIVE CAP CALIBRATION VANE $1.20

FIRE HYDRANT METER 3” .12163-000 BRACKET/HANDLE ASSEMBLY 3 F/H $107.08

FIRE HYDRANT METER 3” .53114-002 STRAINER ELEMENT  3 SST $40.26

FIRE HYDRANT METER 3” .53114-003 STRAINER FIRE HOSE COUPLING AS $26.84

STRAINERS 1 1/2” ..9605-008 STRAINER KIT 11/2 $27.00

FORM U676-24 (REPLACES U676-23) 13 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

STRAINERS 1 1/2” .53145-000 STRAINER COMPLETE 11/2" 7 INCH LONG $819.00

STRAINERS 1 1/2” .53145-100 STRAINER 1 1/2 COMPLETE DUCTILE IRON 7 IN $420.00

STRAINERS 2” ..1321-005 GASKET,OVAL FLANGE 2 DROP $3.70

STRAINERS 2” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

STRAINERS 2” ..9605-001 STRAINER KIT  2 $24.00

STRAINERS 2” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

STRAINERS 2” .53120-000 STRAINER  2 COMPLETE BRONZE $819.00

STRAINERS 2” .53120-600 STRAINER 2 COMPLETE DUCTILE IRON $420.00

STRAINERS 2” .53121-001 GASKET 2 STRAINER $2.58

STRAINERS 2” .53122-001 STRAINER ELEMENT  2 $51.52

STRAINERS 3” ..8307-011 BOLT HEX  5/8-11 2 1/4 ZINC PL $3.86

STRAINERS 3” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

STRAINERS 3” ..9605-002 STRAINER KIT  3 $24.00

STRAINERS 3” .11462-001 STRAINER BASKET 3&4 NEPTUNE HP $585.56

STRAINERS 3” .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

STRAINERS 3” .53107-000 STRAINER  3 COMPLETE BRONZE $1,449.00

STRAINERS 3” .53107-600 STRAINER 3 COMPLETE DUCTILE IRON $634.00

STRAINERS 3” .53112-001 GASKET 3 STRAINER $2.58

STRAINERS 3” .53114-001 STRAINER ELEMENT  3 $82.12

STRAINERS 3” .53135-000 STRAINER ASSEMBLY   3 HP F/S $2,620.00

STRAINERS 3” .60707-003 GASKET 3 ROUND FLANGE $10.16

STRAINERS 4” ..8307-011 BOLT HEX  5/8-11 2 1/4 ZINC PL $3.86

STRAINERS 4” ..9605-003 STRAINER KIT  4 $41.00

STRAINERS 4” .11462-001 STRAINER BASKET 3&4 NEPTUNE HP $585.56

STRAINERS 4” .53107-100 STRAINER  4 COMPLETE BRONZE $2,520.00

STRAINERS 4” .53107-700 STRAINER 4 COMPLETE DUCTILE IRON $885.00

STRAINERS 4” .53113-001 GASKET COVER 4 STRAINER $6.36

STRAINERS 4” .53115-001 STRAINER ELEMENT  4 $88.56

STRAINERS 4” .53135-100 STRAINER ASSEMBLY   4 HP F/S $2,640.00

STRAINERS 4” .60707-004 GASKET 4 ROUND FLANGE $12.88

STRAINERS 6” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

STRAINERS 6” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

STRAINERS 6” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

STRAINERS 6” ..9605-004 STRAINER KIT  6 $108.00

STRAINERS 6” .11462-002 STRAINER BASKET  6 NEPTUNE HP $731.90

STRAINERS 6” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

STRAINERS 6” .52000-201 STRAINER  6 COMPLETE BRONZE $3,801.00

STRAINERS 6” .52000-601 STRAINER 6 COMPLETE DUCTILE IRON $1,632.00

STRAINERS 6” .52028-001 GASKET COVER 6 STRAINER $7.96

STRAINERS 6” .52030-001 STRAINER ELEMENT  6 $378.36

STRAINERS 6” .53135-200 STRAINER ASSEMBLY   6 HP F/S $3,790.00

STRAINERS 6” .60707-006 GASKET 6 ROUND FLANGE $14.50

STRAINERS 8” ..2025-000 FLANGE WASHER-3/4 BOLT GALVNZ $1.46

STRAINERS 8” ..8307-013 BOLT HEX  3/4-10 3 1/4 ZINC PL $7.26

STRAINERS 8” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

STRAINERS 8” ..9605-005 STRAINER KIT  8 $145.00

STRAINERS 8” .11462-003 STRAINER BASKET  8 NEPTUNE HP $968.10

STRAINERS 8” .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

STRAINERS 8” .52000-304 STRAINER  8 COMPLETE BRONZE $6,384.00

STRAINERS 8” .52000-704 STRAINER 8 COMPLETE DUCTILE IRON $3,770.00

STRAINERS 8” .52029-001 GASKET COVER 8 STRAINER $9.58

STRAINERS 8” .52031-001 STRAINER ELEMENT  8 $539.36

STRAINERS 8” .53135-300 STRAINER ASSEMBLY   8 HP F/S $4,920.00

STRAINERS 8” .60707-008 GASKET 8 ROUND FLANGE $15.78

FORM U676-24 (REPLACES U676-23) 14 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

STRAINERS 10” ..8329-421 BOLT 1/2-13 1 1/2L SST HEX 316 $3.54

STRAINERS 10” ..8394-003 SCREW  8-32 1/4 LG  PAN HD SLT $2.90

STRAINERS 10” ..8545-419 NUT  7/8-9  HEX    -DBL CHMF ZINC PLATED $2.74

STRAINERS 10” ..9605-006 STRAINER KIT 10 $176.00

STRAINERS 10” .11462-004 STRAINER BASKET 10 NEPTUNE HP $1,632.06

STRAINERS 10” .52000-402 STRAINER 10 COMPLETE BRONZE $9,975.00

STRAINERS 10” .52000-802 STRAINER 10 COMPLETE DUCTILE IRON $5,826.00

STRAINERS 10” .52029-002 GASKET COVER 10 STRAINER $16.00

STRAINERS 10” .52031-002 STRAINER ELEMENT 10 $845.25

STRAINERS 10” .53107-600 STRAINER 3 COMPLETE DUCTILE IRON $634.00

STRAINERS 10” .53135-400 STRAINER ASSEMBLY  10 HP F/S $6,340.00

STRAINERS 12” .53134-411 STRAINER BODY  10 HP F/S W/12 FLANGE $9,480.00

UMEs 1 1/2” & 2” ..9700-005 UME  1 1/2 & 2 HPT E-CODER)R900i PIT C/F $1,030.00

UMEs 1 1/2” & 2” ..9700-006 UME  1 1/2 & 2 HPT E-CODER)R900i PIT GAL $1,030.00

UMEs 1 1/2” & 2” ..9700-019 UME  1 1/2 & 2 HPT E-CODER PIT C/F $850.00

UMEs 1 1/2” & 2” ..9700-029 UME  1 1/2 & 2 HPT E-CODER PIT GAL $850.00

UMEs 1 1/2” & 2” ..9700-049 UME  1 1/2 & 2 HPT E-CODER PIT M3 $850.00

UMEs 1 1/2” & 2” ..9700-081SG89 UME 1 1/2 & 2 HPT LoRaWAN E-CODER R900i PIT C/F $1,100.00

UMEs 1 1/2” & 2” ..9700-081SG90 UME 1 1/2 & 2 HPT LoRaWAN E-CODER R900i PIT C/F $1,110.00

UMEs 1 1/2” & 2” ..9700-082SG89 UME 1 1/2 & 2 HPT LoRaWAN E-CODER R900i PIT GAL $1,100.00

UMEs 1 1/2” & 2” ..9700-082SG90 UME 1 1/2 & 2 HPT LoRaWAN E-CODER R900i PIT GAL $1,110.00

UMEs 1 1/2” & 2” ..9730-011 UME  2 HP T/F ECODER PIT C/F $1,650.00

UMEs 1 1/2” & 2” ..9730-021 UME  2 HP T/F E-CODER PIT GAL $1,650.00

UMEs 1 1/2” & 2” ..9730-053 UME  2 HP T/F E-CODER)R900i PIT C/F $2,010.00

UMEs 1 1/2” & 2” ..9730-054SG89 UME 2 HP T/F LoRaWAN E-CODER R900i PIT C/F $2,150.00

UMEs 1 1/2” & 2” ..9730-054SG90 UME 2 HP T/F LoRaWAN E-CODER R900i PIT C/F $2,160.00

UMEs 1 1/2” & 2” ..9730-063 UME  2 HP T/F E-CODER)R900i PIT GAL $2,010.00

UMEs 1 1/2” & 2” ..9730-064SG89 UME 2 HP T/F LoRaWAN E-CODER R900i PIT GAL $2,150.00

UMEs 1 1/2” & 2” ..9730-064SG90 UME 2 HP T/F LoRaWAN E-CODER R900i PIT GAL $2,160.00

UMEs 3” ..9596-119 UME  3 T/F W/T10 E-CODER PIT C/F $2,200.00

UMEs 3” ..9596-129 UME  3 T/F W/T10 E-CODER PIT GAL $2,200.00

UMEs 3” ..9596-149 UME  3 T/F W/T10 E-CODER PIT M3 $2,200.00

UMEs 3” ..9596-152 UME  3 T/F W/T10 E-CODER)R900i PIT C/F $2,560.00

UMEs 3” ..9596-162 UME  3 T/F W/T10 E-CODER)R900i PIT GAL $2,560.00

UMEs 3” ..9596-182 UME  3 T/F W/T10 E-CODER)R900i PIT M3 $2,560.00

UMEs 3” ..9596-411SG89 UME 3 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $2,700.00

UMEs 3” ..9596-411SG90 UME 3 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $2,720.00

UMEs 3” ..9596-421SG89 UME 3 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $2,700.00

UMEs 3” ..9596-421SG90 UME 3 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $2,720.00

UMEs 3” ..9600-101 UME  3 F/H D/R C/F $1,100.00

UMEs 3” ..9600-107 UME  3 T/T E-CODER PIT C/F $1,100.00

UMEs 3” ..9600-108 UME  3 T/T E-CODER)R900i PIT C/F $1,280.00

UMEs 3” ..9600-127SG89 UME 3 T/T LoRaWAN E-CODER R900i PIT C/F $1,350.00

UMEs 3” ..9600-127SG90 UME 3 T/T LoRaWAN E-CODER R900i PIT C/F $1,360.00

UMEs 3” ..9600-201 UME  3 F/H D/R GAL $1,100.00

UMEs 3” ..9600-207 UME  3 T/T E-CODER PIT GAL $1,100.00

UMEs 3” ..9600-208 UME  3 T/T E-CODER)R900i PIT GAL $1,280.00

UMEs 3” ..9600-227SG89 UME 3 T/T LoRaWAN E-CODER R900i PIT GAL $1,350.00

UMEs 3” ..9600-227SG90 UME 3 T/T LoRaWAN E-CODER R900i PIT GAL $1,360.00

UMEs 3” ..9700-105 UME  3 HPT E-CODER)R900i PIT C/F $1,330.00

UMEs 3” ..9700-106 UME  3 HPT E-CODER)R900i PIT GAL $1,330.00

UMEs 3” ..9700-119 UME  3 HPT E-CODER PIT C/F $1,150.00

UMEs 3” ..9700-129 UME  3 HPT E-CODER PIT GAL $1,150.00

UMEs 3” ..9700-181SG89 UME 3 HPT LoRaWAN E-CODER R900i PIT C/F $1,400.00

UMEs 3” ..9700-181SG90 UME 3 HPT LoRaWAN E-CODER R900i PIT C/F $1,410.00

FORM U676-24 (REPLACES U676-23) 15 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

UMEs 3” ..9700-182SG89 UME 3 HPT LoRaWAN E-CODER R900i PIT GAL $1,400.00

UMEs 3” ..9700-182SG90 UME 3 HPT LoRaWAN E-CODER R900i PIT GAL $1,410.00

UMEs 3” ..9722-119 UME  3 HP F/S E-CODER PIT C/F $1,100.00

UMEs 3” EU3G1F1 UME  3 ULTRASONIC/MACH STANDALONE C/F $2,250.00

UMEs 3” EU3G1G1 UME  3 ULTRASONIC/MACH STANDALONE GAL $2,250.00

UMEs 3” EU3G2F1 UME 3 ULTRASONIC/ MACH R900i RADIO C/F $2,430.00

UMEs 3” EU3G2G1 UME 3 ULTRASONIC/ MACH R900i RADIO GAL $2,430.00

UMEs 4" ..9596-219 UME  4 T/F W/T10 E-CODER PIT C/F $2,400.00

UMEs 4" ..9596-229 UME  4 T/F W/T10 E-CODER PIT GAL $2,400.00

UMEs 4" ..9596-249 UME  4 T/F W/T10 E-CODER PIT M3 $2,400.00

UMEs 4" ..9596-252 UME  4 T/F W/T10 E-CODER)R900i PIT C/F $2,760.00

UMEs 4" ..9596-262 UME  4 T/F W/T10 E-CODER)R900i PIT GAL $2,760.00

UMEs 4" ..9596-282 UME  4 T/F W/T10 E-CODER)R900i PIT M3 $2,760.00

UMEs 4" ..9596-511SG89 UME 4 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $2,900.00

UMEs 4" ..9596-511SG90 UME 4 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $2,920.00

UMEs 4" ..9596-521SG89 UME  4 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $2,900.00

UMEs 4" ..9596-521SG90 UME 4 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $2,920.00

UMEs 4" ..9700-205 UME  4 HPT E-CODER)R900i PIT C/F $1,430.00

UMEs 4" ..9700-206 UME  4 HPT E-CODER)R900i PIT GAL $1,430.00

UMEs 4" ..9700-219 UME  4 HPT E-CODER PIT C/F $1,250.00

UMEs 4" ..9700-229 UME  4 HPT E-CODER PIT GAL $1,250.00

UMEs 4" ..9700-281SG89 UME 4 HPT LoRaWAN E-CODER R900i PIT C/F $1,500.00

UMEs 4" ..9700-281SG90 UME 4 HPT LoRaWAN E-CODER R900i PIT C/F $1,510.00

UMEs 4" ..9700-282SG89 UME 4 HPT LoRaWAN E-CODER R900i PIT GAL $1,500.00

UMEs 4" ..9700-282SG90 UME 4 HPT LoRaWAN E-CODER R900i PIT GAL $1,510.00

UMEs 4" ..9719-310 UME  4 HP PRO III E-CODER PIT C/F $2,100.00

UMEs 4" ..9719-343 UME  4 HP PRO III E-CODER)R900i PIT GAL $2,460.00

UMEs 4" ..9719-353 UME  4 HP PRO III E-CODER)R900i PIT C/F $2,460.00

UMEs 4" ..9719-381SG89 UME 4 HP PROT III LoRaWAN E-CODER R900i PIT GAL $2,600.00

UMEs 4" ..9719-381SG90 UME 4 HP PROT III LoRaWAN E-CODER R900i PIT GAL $2,620.00

UMEs 4" ..9719-382SG89 UME 4 HP PROT III LoRaWAN E-CODER R900i PIT C/F $2,600.00

UMEs 4" ..9719-382SG90 UME 4 HP PROT III LoRaWAN E-CODER R900i PIT C/F $2,620.00

UMEs 4" ..9722-219 UME  4 HP F/S E-CODER PIT C/F $1,200.00

UMEs 4" EU3H1F1 UME  4 ULTRASONIC/MACH STANDALONE C/F $3,000.00

UMEs 4" EU3H1G1 UME  4 ULTRASONIC/MACH STANDALONE GAL $3,000.00

UMEs 4" EU3H2F1 UME 4 ULTRASONIC/ MACH R900i RADIO C/F $3,180.00

UMEs 4" EU3H2G1 UME 4 ULTRASONIC/ MACH R900i RADIO GAL $3,180.00

UMEs 6" ..9596-319 UME  6 T/F W/T10 E-CODER PIT C/F $3,600.00

UMEs 6" ..9596-329 UME  6 T/F W/T10 E-CODER PIT GAL $3,600.00

UMEs 6" ..9596-349 UME  6 T/F W/T10 E-CODER PIT M3 $3,600.00

UMEs 6" ..9596-352 UME  6 T/F W/T10 E-CODER)R900i PIT C/F $3,960.00

UMEs 6" ..9596-362 UME  6 T/F W/T10 E-CODER)R900i PIT GAL $3,960.00

UMEs 6" ..9596-382 UME  6 T/F W/T10 E-CODER)R900i PIT M3 $3,960.00

UMEs 6" ..9596-611SG89 UME 6 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $4,100.00

UMEs 6" ..9596-611SG90 UME 6 T/F W/T10 LoRaWAN E-CODER R900i PIT C/F $4,120.00

UMEs 6" ..9596-621SG89 UME 6 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $4,100.00

UMEs 6" ..9596-621SG90 UME 6 T/F W/T10 LoRaWAN E-CODER R900i PIT GAL $4,120.00

UMEs 6" ..9700-305 UME  6 HPT E-CODER)R900i PIT C/F $1,880.00

UMEs 6" ..9700-306 UME  6 HPT E-CODER)R900i PIT GAL $1,880.00

UMEs 6" ..9700-319 UME  6 HPT E-CODER PIT C/F $1,700.00

UMEs 6" ..9700-329 UME  6 HPT E-CODER PIT GAL $1,700.00

UMEs 6" ..9700-381SG89 UME 6 HPT LoRaWAN E-CODER R900i PIT C/F $1,950.00

UMEs 6" ..9700-381SG90 UME 6 HPT LoRaWAN E-CODER R900i PIT C/F $1,960.00

UMEs 6" ..9700-382SG89 UME 6 HPT LoRaWAN E-CODER R900i PIT GAL $1,950.00

UMEs 6" ..9700-382SG90 UME 6 HPT LoRaWAN E-CODER R900i PIT GAL $1,960.00

UMEs 6" ..9719-400 UME  6 HP PRO III E-CODER PIT GAL $3,300.00

UMEs 6" ..9719-410 UME  6 HP PRO III E-CODER PIT C/F $3,300.00

FORM U676-24 (REPLACES U676-23) 16 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

UMEs 6" ..9719-443 UME  6 HP PRO III E-CODER)R900i PIT GAL $3,660.00

UMEs 6" ..9719-453 UME  6 HP PRO III E-CODER)R900i PIT C/F $3,660.00

UMEs 6" ..9719-481SG89 UME 6 HP PROT III LoRaWAN E-CODER R900i PIT GAL $3,800.00

UMEs 6" ..9719-481SG90 UME 6 HP PROT III LoRaWAN E-CODER R900i PIT GAL $3,820.00

UMEs 6" ..9719-482SG89 UME 6 HP PROT III LoRaWAN E-CODER R900i PIT C/F $3,800.00

UMEs 6" ..9719-482SG90 UME 6 HP PROT III LoRaWAN E-CODER R900i PIT C/F $3,820.00

UMEs 6" ..9722-319 UME  6 HP F/S E-CODER PIT C/F $1,650.00

UMEs 6" EU3J1F1 UME  6 ULTRASONIC/MACH STANDALONE C/F $4,500.00

UMEs 6" EU3J1G1 UME  6 ULTRASONIC/MACH STANDALONE GAL $4,500.00

UMEs 6" EU3J2F1 UME 6 ULTRASONIC/ MACH R900I RADIO C/F $4,680.00

UMEs 6" EU3J2G1 UME 6 ULTRASONIC/ MACH R900I RADIO GAL $4,680.00

UMEs 8" ..9700-405 UME  8 HPT E-CODER)R900i PIT C/F $2,430.00

UMEs 8" ..9700-406 UME  8 HPT E-CODER)R900i PIT GAL $2,430.00

UMEs 8" ..9700-419 UME  8 HPT E-CODER PIT C/F $2,250.00

UMEs 8" ..9700-429 UME  8 HPT E-CODER PIT GAL $2,250.00

UMEs 8" ..9700-481SG89 UME 8 HPT LoRaWAN E-CODER R900i PIT C/F $2,500.00

UMEs 8" ..9700-481SG90 UME 8 HPT LoRaWAN E-CODER R900i PIT C/F $2,510.00

UMEs 8" ..9700-482SG89 UME 8 HPT LoRaWAN E-CODER R900i PIT GAL $2,500.00

UMEs 8" ..9700-482SG90 UME 8 HPT LoRaWAN E-CODER R900i PIT GAL $2,510.00

UMEs 8" ..9719-500 UME  8 HP PRO III E-CODER PIT GAL $4,400.00

UMEs 8" ..9719-510 UME  8 HP PRO III E-CODER PIT C/F $4,400.00

UMEs 8" ..9719-543 UME  8 HP PRO III E-CODER)R900i PIT GAL $4,760.00

UMEs 8" ..9719-553 UME  8 HP PRO III E-CODER)R900i PIT C/F $4,760.00

UMEs 8" ..9719-581SG89 UME 8 HP PROT III LoRaWAN E-CODER R900i PIT GAL $4,900.00

UMEs 8" ..9719-581SG90 UME 8 HP PROT III LoRaWAN E-CODER R900i PIT GAL $4,920.00

UMEs 8" ..9719-582SG89 UME 8 HP PROT III LoRaWAN E-CODER R900i PIT C/F $4,900.00

UMEs 8" ..9719-582SG90 UME 8 HP PROT III LoRaWAN E-CODER R900i PIT C/F $4,920.00

UMEs 8" ..9722-419 UME  8 HP F/S E-CODER PIT C/F $2,200.00

UMEs 8" EU4G1F1 8 UME MACH 10 STANDALONE GAL $6,000.00

UMEs 8" EU4G1G1 8 UME MACH 10 STANDALONE GAL $6,000.00

UMEs 8" EU4G2F1 8 UME MACH 10 R900i RADIO C/F $6,180.00

UMEs 8" EU4G2G1 8 UME MACH 10 R900i RADIO GAL $6,180.00

UMEs 10" ..9700-505 UME 10 HPT E-CODER)R900i PIT C/F $3,180.00

UMEs 10" ..9700-506 UME 10 HPT E-CODER)R900i PIT GAL $3,180.00

UMEs 10" ..9700-519 UME  10 HPT E-CODER PIT C/F $3,000.00

UMEs 10" ..9700-529 UME  10 HPT E-CODER PIT GAL $3,000.00

UMEs 10" ..9700-581SG89 UME 10 HPT LoRaWAN E-CODER R900i PIT C/F $3,250.00

UMEs 10" ..9700-581SG90 UME 10 HPT  LoRaWAN E-CODER R900i PIT C/F $3,260.00

UMEs 10" ..9700-582SG89 UME 10 HPT  LoRaWAN E-CODER R900i PIT GAL $3,250.00

UMEs 10" ..9700-582SG90 UME 10 HPT  LoRaWAN E-CODER R900i PIT GAL $3,260.00

UMEs 10" ..9719-600 UME  10 HP PRO III E-CODER PIT GAL $5,500.00

UMEs 10" ..9719-610 UME 10 HP PRO III E-CODER PIT C/F $5,500.00

UMEs 10" ..9719-653 UME  10 HP PRO III E-CODER)R900i PIT C/F $5,860.00

UMEs 10" ..9719-681SG89 UME 10 HP PROT III  LoRaWAN E-CODER R900i PIT GAL $6,000.00

UMEs 10" ..9719-681SG90 UME 10 HP PROT III  LoRaWAN E-CODER R900i PIT GAL $6,020.00

UMEs 10" ..9719-682SG89 UME 10 HP PROT III  LoRaWAN E-CODER R900i PIT C/F $6,000.00

UMEs 10" ..9719-682SG90 UME 10 HP PROT III  LoRaWAN E-CODER R900i PIT C/F $6,020.00

UMEs 10" ..9722-519 UME 10 HP F/S E-CODER PIT C/F $2,750.00

UMEs 10" EU4H1F1 10 UME MACH 10 STANDALONE C/F $7,500.00

UMEs 10" EU4H1G1 10 UME MACH 10 STANDALONE GAL $7,500.00

UMEs 10" EU4H2F1 10 UME MACH 10 R900i RADIO C/F $7,680.00

UMEs 10" EU4H2G1 10 UME MACH 10 R900i RADIO GAL $7,680.00

UMEs 12" EU4J1F1 12 UME MACH 10 STANDALONE C/F $9,000.00

UMEs 12" EU4J1G1 12 UME MACH 10 STANDALONE GAL $9,000.00

UMEs 12" EU4J2F1 12 UME MACH 10 R900i RADIO C/F $9,180.00

UMEs 12" EU4J2G1 12 UME MACH 10 R900i RADIO GAL $9,180.00

FORM U676-24 (REPLACES U676-23) 17 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LARGE METER ACCESSORIES ..9656-236 MAKEUP-SPCR 3 CUST 5 3/4 COAT $622.10

LARGE METER ACCESSORIES ..9656-237 MAKEUP-SPCR 4 CUST 7 1/4 COAT $658.66

LARGE METER ACCESSORIES ..9656-241 MAKEUP-SPCR 6 CUST 8 3/4 COAT $951.36

LARGE METER ACCESSORIES ..9656-242 MAKEUP-SPCR 6 CUST 2 3/4 COAT $966.00

LARGE METER ACCESSORIES ..9656-506 SPACER ASSEMBLY 2 W/TEST PLUG SEBILOY $259.00

LARGE METER ACCESSORIES ..9656-507 SPACER MAKE-UP 2 FINAL MACH SEBILOY $245.00

LARGE METER ACCESSORIES ..9656-508 SPACER ASSEMBLY 1 1/2 W/TEST PLUG SEBILOY $287.00

LARGE METER ACCESSORIES .12255-011 COVER REPAIR KIT  4 $756.00

LARGE METER ACCESSORIES .12255-012 COVER REPAIR KIT  6 $1,134.00

LARGE METER ACCESSORIES .12255-013 COVER REPAIR KIT  8 $1,512.00

LARGE METER ACCESSORIES .12255-014 COVER REPAIR KIT 10 $1,890.00

LARGE METER ACCESSORIES .12255-020 COVER REPAIR KIT  2 HPT $400.00

LARGE METER ACCESSORIES .13028-000 EPOXY REPAIR KIT W/APPLICATOR GUN COMP $1,350.00

LARGE METER ACCESSORIES .13028-001 EPOXY REPAIR KIT WATTS $294.00

LARGE METER ACCESSORIES .13028-002 EPOXY APPLICATOR GUN WATTS $760.00

LARGE METER ACCESSORIES .41226-000 FLANGE NUT 5/8-11 UNC-2B $0.82

LARGE METER ACCESSORIES .41227-000 3/4 - 10 NUT DOUBLE-CHAMFER $1.28

LARGE METER ACCESSORIES .60705-101 FLANGE KIT 1 1/2 BRONZE ELECTRO $86.00

LARGE METER ACCESSORIES .60705-201 FLANGE KIT  2 BRONZE ELECTRO $108.00

LARGE METER ACCESSORIES .60705-300 FLANGE KIT  3 C/I ELECTRO $164.00

LARGE METER ACCESSORIES .60705-301 FLANGE KIT  3 BRONZE ELECTRO $419.00

LARGE METER ACCESSORIES .60705-400 FLANGE KIT  4 C/I ELECTRO $247.00

LARGE METER ACCESSORIES .60705-401 FLANGE KIT  4 BRONZE ELECTRO $580.00

LARGE METER ACCESSORIES .60705-600 FLANGE KIT  6 C/I ELECTRO $395.00

LARGE METER ACCESSORIES .60705-601 FLANGE KIT  6 BRONZE ELECTRO $935.00

LARGE METER ACCESSORIES .60705-800 FLANGE KIT  8 C/I ELECTRO $598.00

LARGE METER ACCESSORIES .60705-900 FLANGE KIT 10 C/I ELECTRO $1,172.00

LARGE METER ACCESSORIES .60707-003 GASKET 3 ROUND FLANGE $10.16

LARGE METER ACCESSORIES .60707-004 GASKET 4 ROUND FLANGE $12.88

LARGE METER ACCESSORIES .60707-006 GASKET 6 ROUND FLANGE $14.50

LARGE METER ACCESSORIES .60707-008 GASKET 8 ROUND FLANGE $15.78

LARGE METER ACCESSORIES .60707-010 GASKET 10 ROUND FLANGE $40.26

LARGE METER ACCESSORIES .60709-001 GASKET 1 1/2 FLANGE-OVAL $4.50

LARGE METER ACCESSORIES .60709-002 GASKET 2 FLANGE-OVAL $5.64

READING SYSTEMS ENDPOINT ..5500-158 CRIMPING TOOL $30.00

READING SYSTEMS ENDPOINT ..6431-352 CABLE- 3 WIRE  1000 FT METAL R $288.00

READING SYSTEMS ENDPOINT ..8138-125 CONNECTOR, SPLICING SCOTCHLOK $1.00

READING SYSTEMS ENDPOINT ..8138-192 CONNECTOR SPLICING SCOTCHLOK 2 WIRE $1.20

READING SYSTEMS ENDPOINT ..8328-042 SCREW SELF-TAP 4-24 3/8 LG SST $0.22

READING SYSTEMS ENDPOINT ..8328-302 HI LO FASTENER 8-18 3/8 LONG $0.48

READING SYSTEMS ENDPOINT ..8340-054 GASKET .580X1.168X.120 SANTOPR $3.14

READING SYSTEMS ENDPOINT ..8401-501 SCREW  4-40   3/16LG TRUSS HD $0.22

READING SYSTEMS ENDPOINT .12222-001 NUT MOLDED PROREAD PIT REC & R900 V2 $2.00

READING SYSTEMS ENDPOINT .12287-001 MAGNET ACTIVATION DEVICE R900 WALL ENDPOINT $16.20

READING SYSTEMS ENDPOINT .12482-002 INSTALLATION KIT PIT APPLICATIONS $4.80

READING SYSTEMS ENDPOINT .12482-003 INSTALLATION KIT PIT APP LARGE CAPACITY $9.30

READING SYSTEMS ENDPOINT .12527-000 ANTENNA ASSEMBLY  2' CABLE R900 V2 &V3 PIT ENDPOINT $24.00

READING SYSTEMS ENDPOINT .12527-100 ANTENNA ASSEMBLY(SHORT TUBE) R900 V2 &V3 PIT ENDPOINT $57.56

READING SYSTEMS ENDPOINT .12527-200 ANTENNA ASSEMBLY 6' CABLE ECODER R900i PIT $30.00

READING SYSTEMS ENDPOINT .12527-300 ANTENNA ASSEMBLY 20' CABLE ECODER R900i PIT $40.00

READING SYSTEMS ENDPOINT .12539-001 MOUNTING ADAPTER  R900 V2 WALL ENDPOINT $11.48

READING SYSTEMS ENDPOINT .12596-001 ENDPOINT REGISTER ADAPTER R900 V3 $10.40

READING SYSTEMS ENDPOINT .12596-002 ENDPOINT REGISTER ADAPTER R900 V2 & V3 E-C/P/R PIT $10.40

READING SYSTEMS ENDPOINT .12643-001 SPLICE TUBE WATERPROOF FOR PIGTAIL CONNECTIONS $2.16

READING SYSTEMS ENDPOINT .12643-002 SPLICE TUBE WATERPROOF LARGE CAP $4.00

READING SYSTEMS ENDPOINT .12730-100 BATTERY PACK ASSEMBLY FM R900G $43.20

READING SYSTEMS ENDPOINT .12737-100 COVER W/GASKET R900G AMERICAN $8.50

FORM U676-24 (REPLACES U676-23) 18 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

READING SYSTEMS ENDPOINT .12747-002 GASKET AMERICAN BASE METER R900G $2.10

READING SYSTEMS ENDPOINT .12827-002 GASKET METER BASE R900G SENSUS (HAND PLACE $2.10

READING SYSTEMS ENDPOINT .12847-002 GASKET METER BASE R900G ACTARIS (HAND PLAC $2.10

READING SYSTEMS ENDPOINT .12855-600 R450 PIT ENDPOINT 6' VER ANTENNA ASSEMBLY NICOR CABLE $200.00

READING SYSTEMS ENDPOINT .12855-700 R450 PIT ENDPOINT 25' VER ANTENNA ASSEMBLY NICOR CABLE $210.00

READING SYSTEMS ENDPOINT .12956-000 FLASHLIGHT INFRARED LED FOR R900i DATA LOGGER $180.00

READING SYSTEMS ENDPOINT .12986-000 R450 H-GAIN WALL ENDPOINT ANTENNA RETROFIT KIT $50.00

READING SYSTEMS ENDPOINT .13341-200 TRANSMITTER ASSEMBLY COMP R900 WALL ENDPOINT $158.00

READING SYSTEMS ENDPOINT .13341-210 TRANSMITTER ASSEMBLY COMP R900 WALL ENDPOINT 6' $168.00

READING SYSTEMS ENDPOINT .13341-220 TRANSMITTER ASSEMBLY COMP R900 WALL ENDPOINT 25' $179.00

READING SYSTEMS ENDPOINT .13341-260 TRANSMITTER ASSEMBLY FEMALE R900 WALL ENDPOINT 3' NICOR $179.00

READING SYSTEMS ENDPOINT .13377-200 TRANSCEIVER ASSEMBLY LoRaWAN WALL ENDPOINT $189.00

READING SYSTEMS ENDPOINT .13377-210 TRANSCEIVER ASSEMBLY LoRaWAN WALL ENDPOINT 6' $200.00

READING SYSTEMS ENDPOINT .13377-220 TRANSCEIVER ASSEMBLY LoRaWAN WALL ENDPOINT 25' $210.00

READING SYSTEMS ENDPOINT .13378-200 TRANSCEIVER ASSEMBLY LoRaWAN PIT ENDPOINT 6' VER $200.00

READING SYSTEMS ENDPOINT .13383-200 LoRaWAN PIT ENDPOINT ASSEMBLY COMP 6' VERSION 2' ANTENNA $221.00

READING SYSTEMS ENDPOINT .13383-300 LoRaWAN PIT ENDPOINT ASSEMBLY COMP 25' VERSION 2' ANTENNA $227.00

READING SYSTEMS ENDPOINT .13442-200 R900 PIT ENDPOINT 6' ASSEMBLY COMPLETE $189.00

READING SYSTEMS ENDPOINT .13442-300 R900 PIT ENDPOINT 25' ASSEMBLY COMPLETE $195.00

READING SYSTEMS ENDPOINT .13442-400 R900 PIT ENDPOINT 6' ASSEMBLY COMP FOR P/R PIT R $189.00

READING SYSTEMS ENDPOINT .13442-500 R900 PIT ENDPOINT 25' ASSEMBLY COMP FOR P/R PIT R $195.00

READING SYSTEMS ENDPOINT .13442-600 R900 PIT ENDPOINT 6' ASSEMBLY COMP W/NICOR CABLE $212.00

READING SYSTEMS ENDPOINT .13442-610 R900 PIT ENDPOINT 2' ANT ASSEMBLY COMP 3'NICOR FEMALE $210.00

READING SYSTEMS ENDPOINT .13442-620 R900 PIT ENDPOINT 6' ANT ASSEMBLY COMP 3'NICOR FEMALE $210.00

READING SYSTEMS ENDPOINT .13442-630 R900 PIT ENDPOINT 20' ANT ASSEMBLY COMP 3'NICOR FEMALE $220.00

READING SYSTEMS ENDPOINT .13442-800 R900 PIT ENDPOINT ASSEMBLY COMP KROHNE 3PIN $400.00

READING SYSTEMS ENDPOINT .13443-000 ENDPOINT/REGISTER ADAPTER KIT E-CODER V2 & R900 V3/V4 $10.20

READING SYSTEMS ENDPOINT .13469-000 MOUNTING ADAPTER ASSEMBLY INVERSE TOUCHCOUPLER $50.00

READING SYSTEMS ENDPOINT .13749-000 ANTENNA ASSEMBLY 2' CABLE R900 LID MOUNT SLIP-ON $36.00

READING SYSTEMS ENDPOINT .13749-200 ANTENNA ASSEMBLY 6' CABLE R900 LID MOUNT SLIP-ON $42.00

READING SYSTEMS ENDPOINT .13749-300 ANTENNA ASSEMBLY 20' CABLE R900 LID MOUNT SLIP-ON $54.00

READING SYSTEMS ENDPOINT .96018-064 DOW CORNING 4 ELEC INSULATING 5.3 OZ TUBE $30.00

READING SYSTEMS ENDPOINT .96018-072 NOVAGARD G661 SILICONE, 4CC PACKET $2.00

READING SYSTEMS PROBES .10080-604 WALL CHARGER ASSEMBLY ADVANTAGE $90.00

READING SYSTEMS PROBES .11992-101 BATTERY PACK ASSEMBLY ADVANTAGE II $88.00

READING SYSTEMS PROBES .12110-100 POCKET PROREADER RF SYSTEM $1,406.00

READING SYSTEMS PROBES .12517-100 ADVANTAGE II COMPLETE PROBE/BLANK $1,923.00

READING SYSTEMS PROBES .12517-300 ADVANTAGE II COMPLETE WAND/BLANK $2,297.00

READING SYSTEMS FIELD PROGRAMMERS .13457-000 TRIMBLE PROGRAMMING MOUS SYSTEM LEVEL $1,809.00

READING SYSTEMS FIELD PROGRAMMERS .13820-000 PROGRAMMING MOUSE COMPLETE BOYD $1,809.00

READING SYSTEMS HANDHELDS .13143-001 BATTERY LITHIUM ION R900 BLUETOOTH BC RECEIV $218.00

READING SYSTEMS HANDHELDS .13148-001 CHARGER LITHIUM-ION BATTERY PK R900 BLUETOOTH $218.00

READING SYSTEMS HANDHELDS .13245-101 RANGER POWER MODULE TRIMBLE RANGER 3 HH ACCE $600.00

READING SYSTEMS HANDHELDS .13245-102 RANGER 3 Li-LON BATTERY TRIMBLE HH ACCESSORIES $460.00

READING SYSTEMS HANDHELDS .13245-103 RANGER 3 I/O PORT COVERS TRIMBLE HH ACCESSORIES $50.00

READING SYSTEMS HANDHELDS .13245-104 RANGER 3 SCREEN PROTECTO TRIMBLE HH ACCESSORIES $50.00

READING SYSTEMS HANDHELDS .13245-105 RANGER 3 STD CARRY CASE TRIMBLE HH ACCESSORIES $100.00

READING SYSTEMS HANDHELDS .13245-106 RANGER 3 AC CHARGE KIT TRIMBLE HH ACCESSORIES $250.00

READING SYSTEMS HANDHELDS .13245-107 RANGER 3 TUFS SPARE BATT TRIMBLE HH ACCESSORIES $350.00

READING SYSTEMS HANDHELDS .13245-108 RANGER 3 VEHICLE CHARGER TRIMBLE HH ACCESSORIES $400.00

READING SYSTEMS HANDHELDS .13245-109 RANGER RF ANTENNA $330.00

READING SYSTEMS HANDHELDS .13245-112 RANGER 3 HANDSTRAP WITH STAINLESS CLIPS $44.00

READING SYSTEMS HANDHELDS .13302-100 R900 BLUETOOTH BELT CLIP TRANSCEIVER 3.0 SYSTEM $8,000.00

READING SYSTEMS HANDHELDS .13457-000 TRIMBLE PROGRAMMING MOUSE SYSTEM LEVEL $1,809.00

READING SYSTEMS MOBILE .12309-001 ANTENNA 5dB OMNID  DBDC 2000/EZD/MRX920/MTX950 $140.00

FORM U676-24 (REPLACES U676-23) 19 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

READING SYSTEMS MOBILE .12729-001 CABLE PROTECTOR MLD MOBILE COLLECTORS $0.80

READING SYSTEMS MOBILE .13094-001 POWER CABLE 12V AUTOMOBILE MRX920V2 $250.00

READING SYSTEMS MOBILE .13100-001 USB CABLE W/SECURE CONN MRX920V2 $80.00

READING SYSTEMS MOBILE .13125-001 CARRYING CASE W/SEAT BELT STRAP MRX920V2 $86.00

READING SYSTEMS MOBILE .13128-001 VEHICLE POWER SUPPLY 90 WATT $258.00

READING SYSTEMS MOBILE .13652-001 USB CABLE, A MALE TO MINI-B, 15FT $10.00

READING SYSTEMS MOBILE .13653-001 ANTENNA, 5dBi OMNI DIRECTION MRX920v3 $155.00

READING SYSTEMS MOBILE .13654-002 MAGNETIC MT, ANTENNA NMO, RF 12FT W/FERRITE $180.00

READING SYSTEMS MOBILE .13655-100 MOBILE DATA COLLECTOR v4 ASSEMBLY COMPLETE $13,000.00

READING SYSTEMS GATEWAY - LoRaWAN .13791-100 LoRaWAN GATEWAY, 2-ANT TEKTELIC P/F,VERIZON $13,600.00

READING SYSTEMS GATEWAY - LoRaWAN .13791-200 LoRaWAN GATEWAY 2-ANT TEKTELIC P/F, AT&T $13,600.00

READING SYSTEMS R450 FIXED NETWORK ..8138-189 CONNECTOR COAX MALE 450C FIXED NETWORK $56.20

READING SYSTEMS R450 FIXED NETWORK ..8138-190 CONNECTOR COAX FEMALE 450C FIXED NETWORK $82.00

READING SYSTEMS R450 FIXED NETWORK ..8138-199 CONNECTOR COAX 7/16 DIN FEMALE 450C FIXED NETWOR $54.00

READING SYSTEMS R450 FIXED NETWORK ..8138-200 CONNECTOR COAX N MALE 450C FIXED NETWORK $56.20

READING SYSTEMS R450 FIXED NETWORK .10046-116 CABLE COAX 1/2 DIAMETER 450C FIXED NETWORK $7.00

READING SYSTEMS R450 FIXED NETWORK .10046-117 CABLE COAX 6' JUMPER 450C FIXED NETWORK $300.00

READING SYSTEMS R450 FIXED NETWORK .10046-118 CABLE COAX HELIAX 7/8' 450C FIXED NETWORK RF $15.00

READING SYSTEMS R450 FIXED NETWORK .10046-119 CABLE COAX 1/2 DIA HELIAX RF ANTENNA FN $7.00

READING SYSTEMS R450 FIXED NETWORK .12896-001 ANTENNA RF OMNI 450-482 450C FIXED NETWORK $3,000.00

READING SYSTEMS R450 FIXED NETWORK .13068-200 SOLAR COLL SYSTEM ASSEMBLY 160W 2-10 POLE VER $5,130.00

READING SYSTEMS R450 FIXED NETWORK .13068-300 SOLAR COLL SYSTEM ASSEMBLY 220W 2-10 POLE VER $6,830.00

READING SYSTEMS R900 GPRS GATEWAY FN .12955-001 RUBBER PAD ROOF MOUNT STAND $412.00

READING SYSTEMS R900 GPRS GATEWAY FN .13070-100 OUTDOOR UPS SYSTEM ASSEMBLY $3,130.00

READING SYSTEMS R900 GPRS GATEWAY FN .13085-001 BRACKET ANTENNA MOUNTING ARB FB MINI COLLECTOR $100.00

READING SYSTEMS R900 GPRS GATEWAY FN .13086-001 STAND BALLAST ROOF MOUNT $2,000.00

READING SYSTEMS R900 GPRS GATEWAY FN .13134-000 MOUNTING BRACKET ASSEMBLY ANTENNA CROSS/L POLE FB $120.00

READING SYSTEMS R900 GPRS GATEWAY FN .13146-100 ANTENNA RF W/BRACKETS R900 GATEWAY v2 $580.00

READING SYSTEMS R900 GPRS GATEWAY FN .13939-000 MODEM KIT SIERRA WIRELES RV55 LTE-A PRO R900 GW $2,400.00

NEPTUNE 360 PLATFORM .13980-001 NEPTUNE 360 AMR SET UP FEE (SaaS PF) $3,000.00

NEPTUNE 360 PLATFORM .13980-002 NEPTUNE 360 AMI SET UP FEE (SaaS PF) $6,500.00

NEPTUNE 360 PLATFORM .13980-003 NEPTUNE 360 REMOTE TRAINING (4 HOURS) $1,500.00

NEPTUNE 360 PLATFORM .13980-004 NEPTUNE 360 ON-SITE TRAINING $3,000.00

NEPTUNE 360 PLATFORM .13980-005 DATA STORAGE 5 YRS ANNUAL SUBSCRIPTION $0.72

NEPTUNE 360 PLATFORM .13980-006 DATA STORAGE 6 YRS ANNUAL SUBSCRIPTION $1.44

NEPTUNE 360 PLATFORM .13980-007 NEPTUNE 360 FILE MAPPER CONFIGURATION FEE $3,000.00

NEPTUNE 360 PLATFORM .13980-008 CONVERSION FEE NEPTUNE 360 $6,240.00

NEPTUNE 360 PLATFORM .13980-011 PROFESSIONAL SERVICES NEPTUNE 360 $780.00

NEPTUNE 360 PLATFORM .13980-012 SSO INTEGRATION NEPTUNE 360 $10,000.00

NEPTUNE 360 PLATFORM .13980-101 NEPTUNE 360 AMR SUB SaaS PF TR 1 1 - 500 $7.44

NEPTUNE 360 PLATFORM .13980-102 NEPTUNE 360 AMR SUB SaaS PF TR 2  501-1000 $3.72

NEPTUNE 360 PLATFORM .13980-103 NEPTUNE 360 AMR SUB SaaS PF TR 3 1001-2500 $2.52

NEPTUNE 360 PLATFORM .13980-104 NEPTUNE 360 AMR SUB SaaS PF TR 4 2501-5000 $2.04

NEPTUNE 360 PLATFORM .13980-105 NEPTUNE 360 AMR SUB SaaS PF TR 5 5001-10000 $1.80

NEPTUNE 360 PLATFORM .13980-106 NEPTUNE 360 AMR SUB SaaS PF TR 6 10001-20000 $1.56

NEPTUNE 360 PLATFORM .13980-107 NEPTUNE 360 AMR SUB SaaS PF TR 7 20001-50000 $1.32

NEPTUNE 360 PLATFORM .13980-108 NEPTUNE 360 AMR SUB SaaSPF TR 8 50001-100000 $1.08

NEPTUNE 360 PLATFORM .13980-109 NEPTUNE 360 AMR SUB SaaS PF TR 9 >100,000 $0.84

NEPTUNE 360 PLATFORM .13980-201 NEPTUNE 360 AMI SUB SaaS PF TR 1 1-500 $18.96

NEPTUNE 360 PLATFORM .13980-202 NEPTUNE 360 AMI SUB Saas PF TR 2 501-1000 $9.36

NEPTUNE 360 PLATFORM .13980-203 NEPTUNE 360 AMI SUB SaaS PF TIER 3 1001-2500 $6.12

NEPTUNE 360 PLATFORM .13980-204 NEPTUNE 360 AMI SUB SaaS PF TIER 4 2501-5000 $5.88

NEPTUNE 360 PLATFORM .13980-205 NEPTUNE 360 AMI SUB SaaS PF TR 5 5001-10000 $5.64

NEPTUNE 360 PLATFORM .13980-206 NEPTUNE 360 AMI SUB SaaS PF TR 6 10001-20000 $3.72

NEPTUNE 360 PLATFORM .13980-207 NEPTUNE 360 AMI SUB SaaS PF TR 7 20001-50000 $3.48

FORM U676-24 (REPLACES U676-23) 20 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

NEPTUNE 360 PLATFORM .13980-208 NEPTUNE 360 AMI SUB SaaSPF TR 8 50001-100000 $3.24

NEPTUNE 360 PLATFORM .13980-209 NEPTUNE 360 AMI SUB SaaS PF TR 9 >100000 $2.04

READING SYSTEMS RECEPTACLES .11396-200 MAXI PIT RECEPTACLE COMP 6' 3 WIRE $32.20

READING SYSTEMS RECEPTACLES .11396-300 MAXI PIT RECEPTACLE COMP 25' 3 WIRE $38.32

READING SYSTEMS RECEPTACLES .12081-000 PRORECEPTACLE WALL ASSEMBLY BLACK HOUSING $21.90

READING SYSTEMS RECEPTACLES .12220-001 FLANGE BUTTON VERSION MOLDED PROREAD PIT RECP $6.04

READING SYSTEMS RECEPTACLES .12222-001 NUT MOLDED PROREAD PIT REC & R900 V2 $2.00

READING SYSTEMS RECEPTACLES .12223-100 PROREAD PIT RECEPTACLE ASSEMBLY 6' VERSION $43.00

READING SYSTEMS RECEPTACLES .12223-150 PROREAD PIT  RECEPTACLE ASSEMBLY 25' VERSION $50.72

TRICON/S RA2F1B2 REG-TRICON/S C/F 1U 5/8 T-10 $901.00

TRICON/S RA2F1G2 REG-TRICON/S C/F 10U 5/8 T-10 $901.00

TRICON/S RA2F1K2 REG-TRICON/S C/F 100U 5/8 T-10 $901.00

TRICON/S RA2F2B2 REG-TRICON/S C/F 1U 3/4 T-10 $901.00

TRICON/S RA2F2G2 REG-TRICON/S C/F 10U 3/4 T-10 $901.00

TRICON/S RA2F2K2 REG-TRICON/S C/F 100U 3/4 T-10 $901.00

TRICON/S RA2F3B2 REG-TRICON/S C/F 1U 1 T-10 $901.00

TRICON/S RA2F3G2 REG-TRICON/S C/F 10U 1 T-10 $901.00

TRICON/S RA2F3K2 REG-TRICON/S C/F 100U 1 T-10 $901.00

TRICON/S RA2F4B2 REG-TRICON/S C/F 1U 1 1/2 T-10 $901.00

TRICON/S RA2F4G2 REG-TRICON/S C/F 10U 1 1/2 T-10 $901.00

TRICON/S RA2F4K2 REG-TRICON/S C/F 100U 1 1/2 T-10 $901.00

TRICON/S RA2F4N2 REG-TRICON/S C/F 1000U 1 1/2 T-10 $901.00

TRICON/S RA2F5B2 REG-TRICON/S C/F 1U 2 T-10 $901.00

TRICON/S RA2F5G2 REG-TRICON/S C/F 10U 2 T-10 $901.00

TRICON/S RA2F5K2 REG-TRICON/S C/F 100U 2 T-10 $901.00

TRICON/S RA2F5N2 REG-TRICON/S C/F 1000U 2 T-10 $901.00

TRICON/S RA2G1B2 REG-TRICON/S GAL 1U 5/8 T-10 $901.00

TRICON/S RA2G1G2 REG-TRICON/S GAL 10U 5/8 T-10 $901.00

TRICON/S RA2G1K2 REG-TRICON/S GAL 100U 5/8 T-10 $901.00

TRICON/S RA2G2B2 REG-TRICON/S GAL 1U 3/4 T-10 $901.00

TRICON/S RA2G2G2 REG-TRICON/S GAL 10U 3/4 T-10 $901.00

TRICON/S RA2G2K2 REG-TRICON/S GAL 100U 3/4 T-10 $901.00

TRICON/S RA2G3B2 REG-TRICON/S GAL 1U 1 T-10 $901.00

TRICON/S RA2G3G2 REG-TRICON/S GAL 10U 1 T-10 $901.00

TRICON/S RA2G3K2 REG-TRICON/S GAL 100U 1 T-10 $901.00

TRICON/S RA2G4G2 REG-TRICON/S GAL 10U 1 1/2 T-10 $901.00

TRICON/S RA2G4K2 REG-TRICON/S GAL 100U 1 1/2 T-10 $901.00

TRICON/S RA2G4N2 REG-TRICON/S GAL 1000U 1 1/2 T-10 $901.00

TRICON/S RA2G5G2 REG-TRICON/S GAL 10U 2 T-10 $901.00

TRICON/S RA2G5K2 REG-TRICON/S GAL 100U 2 T-10 $901.00

TRICON/S RA2G5N2 REG-TRICON/S GAL 1000U 2 T-10 $901.00

TRICON/S RA2M1B2 REG-TRICON/S LIT 1U 5/8 T-10 $901.00

TRICON/S RA2M1G2 REG-TRICON/S LIT 10U 5/8 T-10 $901.00

TRICON/S RA2M1K2 REG-TRICON/S LIT 100U 5/8 T-10 $901.00

TRICON/S RA2M2B2 REG-TRICON/S LIT 1U 3/4 T-10 $901.00

TRICON/S RA2M2G2 REG-TRICON/S LIT 10U 3/4 T-10 $901.00

TRICON/S RA2M2K2 REG-TRICON/S LIT 100U 3/4 T-10 $901.00

TRICON/S RA2M3B2 REG-TRICON/S LIT 1U 1 T-10 $901.00

TRICON/S RA2M3G2 REG-TRICON/S LIT 10U 1 T-10 $901.00

TRICON/S RA2M3K2 REG-TRICON/S LIT 100U 1 T-10 $901.00

TRICON/S RA2M4G2 REG-TRICON/S LIT 10U 1 1/2 T-10 $901.00

TRICON/S RA2M4K2 REG-TRICON/S LIT 100U 1 1/2 T-10 $901.00

TRICON/S RA2M4N2 REG-TRICON/S LIT 1000U 1 1/2 T-10 $901.00

TRICON/S RA2M5G2 REG-TRICON/S LIT 10U 2 T-10 $901.00

TRICON/S RA2M5K2 REG-TRICON/S LIT 100U 2 T-10 $901.00

TRICON/S RA2M5N2 REG-TRICON/S LIT 1000U 2 T-10 $901.00

TRICON/S RA3F2D2 REG-TRICON/S C/F 1U 2 TRIDENT TURBINE $901.00

FORM U676-24 (REPLACES U676-23) 21 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

TRICON/S RA3F2H2 REG-TRICON/S C/F 10U 2 TRIDENT TURBINE $901.00

TRICON/S RA3F2L2 REG-TRICON/S C/F 100U 2 TRIDENT TURBINE $901.00

TRICON/S RA3F2P2 REG-TRICON/S C/F 1000U 2 TRIDENT TURBINE $901.00

TRICON/S RA3F3D2 REG-TRICON/S C/F 1U 3 TRIDENT TURBINE $901.00

TRICON/S RA3F3H2 REG-TRICON/S C/F 10U 3 TRIDENT TURBINE $901.00

TRICON/S RA3F3L2 REG-TRICON/S C/F 100U 3 TRIDENT TURBINE $901.00

TRICON/S RA3F3P2 REG-TRICON/S C/F 1000U 3 TRIDENT TURBINE $901.00

TRICON/S RA3F4D2 REG-TRICON/S C/F 1U 4 TRIDENT TURBINE $901.00

TRICON/S RA3F4H2 REG-TRICON/S C/F 10U 4 TRIDENT TURBINE $901.00

TRICON/S RA3F4L2 REG-TRICON/S C/F 100U 4 TRIDENT TURBINE $901.00

TRICON/S RA3F4P2 REG-TRICON/S C/F 1000U 4 TRIDENT TURBINE $901.00

TRICON/S RA3F5H2 REG-TRICON/S C/F 10U 6 TRIDENT TURBINE $901.00

TRICON/S RA3F5L2 REG-TRICON/S C/F 100U 6 TRIDENT TURBINE $901.00

TRICON/S RA3F5P2 REG-TRICON/S C/F 1000U 6 TRIDENT TURBINE $901.00

TRICON/S RA3F5S2 REG-TRICON/S C/F 10000U 6 TRIDENT TURBINE $901.00

TRICON/S RA3F6H2 REG-TRICON/S C/F 10U 8 TRIDENT TURBINE $901.00

TRICON/S RA3F6L2 REG-TRICON/S C/F 100U 8 TRIDENT TURBINE $901.00

TRICON/S RA3F6P2 REG-TRICON/S C/F 1000U 8 TRIDENT TURBINE $901.00

TRICON/S RA3F6S2 REG-TRICON/S C/F 1000U 8 TRIDENT TURBINE $901.00

TRICON/S RA3F7H2 REG-TRICON/S C/F 10U 10 TRIDENT TURBINE $901.00

TRICON/S RA3F7L2 REG-TRICON/S C/F 100U 10 TRIDENT TURBINE $901.00

TRICON/S RA3F7P2 REG-TRICON/S C/F 1000U 10 TRIDENT TURBINE $901.00

TRICON/S RA3F7S2 REG-TRICON/S C/F 10000U 10 TRIDENT TURBINE $901.00

TRICON/S RA3G2H2 REG-TRICON/S GAL 10U 2 TRIDENT TURBINE $901.00

TRICON/S RA3G2L2 REG-TRICON/S GAL 100U 2 TRIDENT TURBINE $901.00

TRICON/S RA3G2P2 REG-TRICON/S GAL 1000U 2 TRIDENT TURBINE $901.00

TRICON/S RA3G2S2 REG-TRICON/S GAL 10000U 2 TRIDENT TURBINE $901.00

TRICON/S RA3G3H2 REG-TRICON/S GAL 10U 3 TRIDENT TURBINE $901.00

TRICON/S RA3G3L2 REG-TRICON/S GAL 100U 3 TRIDENT TURBINE $901.00

TRICON/S RA3G3P2 REG-TRICON/S GAL 1000U 3 TRIDENT TURBINE $901.00

TRICON/S RA3G3S2 REG-TRICON/S GAL 10000U 3 TRIDENT TURBINE $901.00

TRICON/S RA3G4H2 REG-TRICON/S GAL 10U 4 TRIDENT TURBINE $901.00

TRICON/S RA3G4L2 REG-TRICON/S GAL 100U 4 TRIDENT TURBINE $901.00

TRICON/S RA3G4P2 REG-TRICON/S GAL 1000U 4 TRIDENT TURBINE $901.00

TRICON/S RA3G4S2 REG-TRICON/S GAL 10000U 4 TRIDENT TURBINE $901.00

TRICON/S RA3G5L2 REG-TRICON/S GAL 100U 6 TRIDENT TURBINE $901.00

TRICON/S RA3G5P2 REG-TRICON/S GAL 1000U 6 TRIDENT TURBINE $901.00

TRICON/S RA3G5S2 REG-TRICON/S GAL 10000U 6 TRIDENT TURBINE $901.00

TRICON/S RA3G5V2 REG-TRICON/S GAL 100000U 6 TRIDENT TURBINE $901.00

TRICON/S RA3G6L2 REG-TRICON/S GAL 100U 8 TRIDENT TURBINE $901.00

TRICON/S RA3G6P2 REG-TRICON/S GAL 1000U 8 TRIDENT TURBINE $901.00

TRICON/S RA3G6S2 REG-TRICON/S GAL 10000U 8 TRIDENT TURBINE $901.00

TRICON/S RA3G6V2 REG-TRICON/S GAL 100000U 8 TRIDENT TURBINE $901.00

TRICON/S RA3G7L2 REG-TRICON/S GAL 100U 10 TRIDENT TURBINE $901.00

TRICON/S RA3G7P2 REG-TRICON/S GAL 1000U 10 TRIDENT TURBINE $901.00

TRICON/S RA3G7S2 REG-TRICON/S GAL 10000U 10 TRIDENT TURBINE $901.00

TRICON/S RA3G7V2 REG-TRICON/S GAL 100000U 10 TRIDENT TURBINE $901.00

TRICON/S RA5F0D2 REG-TRICON/S C/F 1U 4 HP PROTECTUS $901.00

TRICON/S RA5F0H2 REG-TRICON/S C/F 10U 4 HP PROTECTUS $901.00

TRICON/S RA5F0L2 REG-TRICON/S C/F 100U 4 HP PROTECTUS $901.00

TRICON/S RA5F0P2 REG-TRICON/S C/F 1000U 4 HP PROTECTUS $901.00

TRICON/S RA5F2D2 REG-TRICON/S C/F 1U 2 HP TURBINE $901.00

TRICON/S RA5F2H2 REG-TRICON/S C/F 10U 2 HP TURBINE $901.00

TRICON/S RA5F2L2 REG-TRICON/S C/F 100U 2 HP TURBINE $901.00

TRICON/S RA5F2P2 REG-TRICON/S C/F 1000U 2 HP TURBINE $901.00

TRICON/S RA5F3D2 REG-TRICON/S C/F 1U 3 HP TURBINE $901.00

TRICON/S RA5F3H2 REG-TRICON/S C/F 10U 3 HP TURBINE $901.00

TRICON/S RA5F3L2 REG-TRICON/S C/F 100U 3 HP TURBINE $901.00

TRICON/S RA5F3P2 REG-TRICON/S C/F 1000U 3 HP TURBINE $901.00

FORM U676-24 (REPLACES U676-23) 22 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

TRICON/S RA5F4D2 REG-TRICON/S C/F 1U 4 HP TURBINE $901.00

TRICON/S RA5F4H2 REG-TRICON/S C/F 10U 4 HP TURBINE $901.00

TRICON/S RA5F4L2 REG-TRICON/S C/F 100U 4 HP TURBINE $901.00

TRICON/S RA5F4P2 REG-TRICON/S C/F 1000U 4 HP TURBINE $901.00

TRICON/S RA5F5H2 REG-TRICON/S C/F 10U 6 HP TURBINE $901.00

TRICON/S RA5F5L2 REG-TRICON/S C/F 100U 6 HP TURBINE $901.00

TRICON/S RA5F5P2 REG-TRICON/S C/F 1000U 6 HP TURBINE $901.00

TRICON/S RA5F5S2 REG-TRICON/S C/F 10000U 6 HP TURBINE $901.00

TRICON/S RA5F6H2 REG-TRICON/S C/F 10U 8 HP TURBINE $901.00

TRICON/S RA5F6L2 REG-TRICON/S C/F 100U 8 HP TURBINE $901.00

TRICON/S RA5F6P2 REG-TRICON/S C/F 1000U 8 HP TURBINE $901.00

TRICON/S RA5F6S2 REG-TRICON/S C/F 10000U 8 HP TURBINE $901.00

TRICON/S RA5F7H2 REG-TRICON/S C/F 10U 10 HP TURBINE $901.00

TRICON/S RA5F7L2 REG-TRICON/S C/F 100U 10 HP TURBINE $901.00

TRICON/S RA5F7P2 REG-TRICON/S C/F 1000U 10 HP TURBINE $901.00

TRICON/S RA5F7S2 REG-TRICON/S C/F 10000U 10 HP TURBINE $901.00

TRICON/S RA5FAH2 REG-TRICON/S C/F 10U 6 HP PROTECTUS $901.00

TRICON/S RA5FAL2 REG-TRICON/S C/F 100U 6 HP PROTECTUS $901.00

TRICON/S RA5FAP2 REG-TRICON/S C/F 1000U 6 HP PROTECTUS $901.00

TRICON/S RA5FAS2 REG-TRICON/S C/F 10000U 6 HP PROTECTUS $901.00

TRICON/S RA5FBH2 REG-TRICON/S C/F 10U 8 HP PROTECTUS $901.00

TRICON/S RA5FBL2 REG-TRICON/S C/F 100U 8 HP PROTECTUS $901.00

TRICON/S RA5FBP2 REG-TRICON/S C/F 1000U 8 HP PROTECTUS $901.00

TRICON/S RA5FBS2 REG-TRICON/S C/F 10000U 8 HP PROTECTUS $901.00

TRICON/S RA5FCH2 REG-TRICON/S C/F 10U 10 HP PROTECTUS $901.00

TRICON/S RA5FCL2 REG-TRICON/S C/F 100U 10 HP PROTECTUS $901.00

TRICON/S RA5FCP2 REG-TRICON/S C/F 1000U 10 HP PROTECTUS $901.00

TRICON/S RA5FCS2 REG-TRICON/S C/F 10000U 10 HP PROTECTUS $901.00

TRICON/S RA5G0H2 REG-TRICON/S GAL 10U 4 HP PROTECTUS $901.00

TRICON/S RA5G0L2 REG-TRICON/S GAL 100U 4 HP PROTECTUS $901.00

TRICON/S RA5G0P2 REG-TRICON/S GAL 1000U 4 HP PROTECTUS $901.00

TRICON/S RA5G0S2 REG-TRICON/S GAL 10000U 4 HP PROTECTUS $901.00

TRICON/S RA5G2H2 REG-TRICON/S GAL 10U 2 HP TURBINE $901.00

TRICON/S RA5G2L2 REG-TRICON/S GAL 100U 2 HP TURBINE $901.00

TRICON/S RA5G2P2 REG-TRICON/S GAL 1000U 2 HP TURBINE $901.00

TRICON/S RA5G2S2 REG-TRICON/S GAL 10000U 2 HP TURBINE $901.00

TRICON/S RA5G3H2 REG-TRICON/S GAL 10U 3 HP TURBINE $901.00

TRICON/S RA5G3L2 REG-TRICON/S GAL 100U 3 HP TURBINE $901.00

TRICON/S RA5G3P2 REG-TRICON/S GAL 1000U 3 HP TURBINE $901.00

TRICON/S RA5G3S2 REG-TRICON/S GAL 10000U 3 HP TURBINE $901.00

TRICON/S RA5G4H2 REG-TRICON/S GAL 10U 4 HP TURBINE $901.00

TRICON/S RA5G4L2 REG-TRICON/S GAL 100U 4 HP TURBINE $901.00

TRICON/S RA5G4P2 REG-TRICON/S GAL 1000U 4 HP TURBINE $901.00

TRICON/S RA5G4S2 REG-TRICON/S GAL 10000U 4 HP TURBINE $901.00

TRICON/S RA5G5L2 REG-TRICON/S GAL 100U 6 HP TURBINE $901.00

TRICON/S RA5G5P2 REG-TRICON/S GAL 1000U 6 HP TURBINE $901.00

TRICON/S RA5G5S2 REG-TRICON/S GAL 10000U 6 HP TURBINE $901.00

TRICON/S RA5G5V2 REG-TRICON/S GAL 100000U 6 HP TURBINE $901.00

TRICON/S RA5G6L2 REG-TRICON/S GAL 100U 8 HP TURBINE $901.00

TRICON/S RA5G6P2 REG-TRICON/S GAL 1000U 8 HP TURBINE $901.00

TRICON/S RA5G6S2 REG-TRICON/S GAL 10000U 8 HP TURBINE $901.00

TRICON/S RA5G6V2 REG-TRICON/S GAL 100000U 8 HP TURBINE $901.00

TRICON/S RA5G7L2 REG-TRICON/S GAL 100U 10 HP TURBINE $901.00

TRICON/S RA5G7P2 REG-TRICON/S GAL 1000U 10 HP TURBINE $901.00

TRICON/S RA5G7S2 REG-TRICON/S GAL 10000U 10 HP TURBINE $901.00

TRICON/S RA5G7V2 REG-TRICON/S GAL 100000U 10 HP TURBINE $901.00

TRICON/S RA5GAL2 REG-TRICON/S GAL 100U 6 HP PROTECTUS $901.00

TRICON/S RA5GAP2 REG-TRICON/S GAL 1000U 6 HP PROTECTUS $901.00

TRICON/S RA5GAS2 REG-TRICON/S GAL 10000U 6 HP PROTECTUS $901.00

FORM U676-24 (REPLACES U676-23) 23 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

TRICON/S RA5GAV2 REG-TRICON/S GAL 100000U 6 HP PROTECTUS $901.00

TRICON/S RA5GBL2 REG-TRICON/S GAL 100U 8 HP PROTECTUS $901.00

TRICON/S RA5GBP2 REG-TRICON/S GAL 1000U 8 HP PROTECTUS $901.00

TRICON/S RA5GBS2 REG-TRICON/S GAL 10000U 8 HP PROTECTUS $901.00

TRICON/S RA5GBV2 REG-TRICON/S GAL 100000U 8 HP PROTECTUS $901.00

TRICON/S RA5GCL2 REG-TRICON/S GAL 100U 10 HP PROTECTUS $901.00

TRICON/S RA5GCP2 REG-TRICON/S GAL 1000U 10 HP PROTECTUS $901.00

TRICON/S RA5GCS2 REG-TRICON/S GAL 10000U 10 HP PROTECTUS $901.00

TRICON/S RA5GCV2 REG-TRICON/S GAL 100000U 10 HP PROTECTUS $901.00

TRICON/E ..8328-042 SCREW SELF-TAP 4-24 3/8 LG SST $0.22

TRICON/E ..8345-008 GROMMET .300  .500 SR 6W-1 $0.22

TRICON/E ..9309-501 REGISTER SEAL PIN $0.16

TRICON/E .12042-001 OWNERS MANUAL TRICON/E $14.00

TRICON/E .12194-000 TRICON/E INSTALLATION KIT $72.80

TRICON/E .60320-001 MOUNTING RING TRICON-E $4.00

TRICON/E .60321-001 DOOR TRICON-E $20.74

TRICON/E .60366-000 TRICON/E3 REG DIGITAL TURB $953.00

TRICON/E .60366-050 TRICON/E3 REG DIGITAL DISC $953.00

TRICON/E .60366-200 TRICON/E3 REG 4-20 MA 5/8 T-10 $1,029.00

TRICON/E .60366-210 TRICON/E3 REG 4-20 MA 3/4 T-10 $1,029.00

TRICON/E .60366-220 TRICON/E3 REG 4-20 MA 1 T-10 $1,029.00

TRICON/E .60366-230 TRICON/E3 REG 4-20 MA 1 1/2 T-10 $1,029.00

TRICON/E .60366-240 TRICON/E3 REG 4-20 MA 2 T-10 $1,029.00

TRICON/E .60366-300 TRICON/E3 REG 4-20 MA 2 T/T $1,029.00

TRICON/E .60366-310 TRICON/E3 REG 4-20 MA 3 T/T $1,029.00

TRICON/E .60366-320 TRICON/E3 REG 4-20 MA 4 T/T $1,029.00

TRICON/E .60366-330 TRICON/E3 REG 4-20 MA 6 T/T $1,029.00

TRICON/E .60366-340 TRICON/E3 REG 4-20 MA 8 T/T $1,029.00

TRICON/E .60366-350 TRICON/E3 REG 4-20 MA 10 T/T $1,029.00

TRICON/E .60366-400 TRICON/E3 REG 4-20 MA 2 HPT $1,029.00

TRICON/E .60366-410 TRICON/E3 REG 4-20 MA 3 HPT $1,029.00

TRICON/E .60366-420 TRICON/E3 REG 4-20 MA 4 HPT $1,029.00

TRICON/E .60366-430 TRICON/E3 REG 4-20 MA 6 HPT $1,029.00

TRICON/E .60366-440 TRICON/E3 REG 4-20 MA 8 HPT $1,029.00

TRICON/E .60366-450 TRICON/E3 REG 4-20 MA 10 HPT $1,029.00

TRICON/E .60366-460 TRICON/E3 REG 4-20 MA 1 1/2 HPT $1,029.00

TRICON/E .60366-700 REGISTER ADAPTER ASSEMBLY DIGITAL 12, 16, 20 HPT $800.00

TRICON/E .60366-710 REGISTER ADAPTER ASSEMBLY 4-20 MA 12 HPT $800.00

TRICON/E .60366-720 REGISTER ADAPTER ASSEMBLY PLAIN $800.00

TRICON/E .60366-730 REGISTER ADAPTER ASSEMBLY 4-20 MA 16 HPT $800.00

TRICON/E .60366-740 REGISTER ADAPTER ASSEMBLY 4-20 MA 20 HPT $800.00

SMARTTROL ..8149-101 SMARTTROL B/C ES-558 $2,589.00

SMARTTROL ..8149-102 SMARTTROL B/C ES-558-1 $2,780.00

SMARTTROL ..8149-103 SMARTTROL B/C ES-558-3 $2,760.00

SMARTTROL ..8149-104 SMARTTROL B/C ES-558-13 $3,134.00

SMARTTROL ..8149-201 SMARTTROL TRICON/S RELAY $2,589.00

SMARTTROL ..8149-203 SMARTTROL TRICON/S 4-20 MA $2,760.00

DIRECT READ REGISTERS ..5500-134 WRENCH FACE SPANNER ASSEMBLY $163.42

DIRECT READ REGISTERS ..8350-007 SPIROL PIN 5/8  LG .102 DIA $0.32

DIRECT READ REGISTERS ..9105-001 RETAINER RING L/P REG $2.58

DIRECT READ REGISTERS ..9106-002 REGISTER SEAL PIN L/P GOLD $0.16

DIRECT READ REGISTERS ..9107-011 SEAL L/P REG ASY 5/8 T10 GAL $30.80

DIRECT READ REGISTERS ..9107-012 SEAL L/P REG ASY 5/8 T10 C/F $30.80

DIRECT READ REGISTERS ..9107-013 SEAL L/P REG ASY 5/8 T10 M3 $30.80

DIRECT READ REGISTERS ..9107-021 SEAL L/P REG ASY 3/4 T10 GAL $30.80

DIRECT READ REGISTERS ..9107-022 SEAL L/P REG ASY 3/4 T10 C/F $30.80

DIRECT READ REGISTERS ..9107-023 SEAL L/P REG ASY 3/4 T10 M3 $30.80

FORM U676-24 (REPLACES U676-23) 24 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

DIRECT READ REGISTERS ..9107-031 SEAL L/P REG ASY 1 T10 GAL $30.80

DIRECT READ REGISTERS ..9107-032 SEAL L/P REG ASY 1 T10 C/F $30.80

DIRECT READ REGISTERS ..9107-033 SEAL L/P REG ASY 1 T10 M3 $30.80

DIRECT READ REGISTERS ..9107-041 SEAL L/P REG ASY 1 1/2 T10 GAL $30.80

DIRECT READ REGISTERS ..9107-042 SEAL L/P REG ASY 1 1/2 T10 C/F $30.80

DIRECT READ REGISTERS ..9107-043 SEAL L/P REG ASY 1 1/2 T10 M3 $30.80

DIRECT READ REGISTERS ..9107-051 SEAL L/P REG ASY 2 T10 GAL $30.80

DIRECT READ REGISTERS ..9107-052 SEAL L/P REG ASY 2 T10 C/F $30.80

DIRECT READ REGISTERS ..9107-053 SEAL L/P REG ASY 2 T10 M3 $30.80

DIRECT READ REGISTERS ..9131-000 BOX & LID ASSEMBLY L/P REG PLS $10.48

DIRECT READ REGISTERS ..9131-100 BOX & LID ASSEMBLY L/P REG BRONZE $25.76

DIRECT READ REGISTERS ..9132-001 LID L/P REG PLASTIC MOLDED $2.26

DIRECT READ REGISTERS ..9133-001 BOX L/P REG PLASTIC MOLDED $4.68

DIRECT READ REGISTERS ..9309-501 REGISTER SEAL PIN $0.16

DIRECT READ REGISTERS .71345-002 TEST RING T-10 REGISTER $9.20

DIRECT READ REGISTERS R82F11 REG-DIR READ C/F PLS 5/8 T-10 $37.80

DIRECT READ REGISTERS R82F12 REG-DIR READ C/F BRONZE 5/8 T-10 $57.80

DIRECT READ REGISTERS R82F21 REG-DIR READ C/F PLS 3/4 T-10 $37.80

DIRECT READ REGISTERS R82F22 REG-DIR READ C/F BRONZE 3/4 T-10 $57.80

DIRECT READ REGISTERS R82F31 REG-DIR READ C/F PLS 1 T-10 $37.80

DIRECT READ REGISTERS R82F32 REG-DIR READ C/F BRONZE 1 T-10 $57.80

DIRECT READ REGISTERS R82F41 REG-DIR READ C/F PLS 1 1/2 T-10 $37.80

DIRECT READ REGISTERS R82F42 REG-DIR READ C/F BRONZE 1 1/2 T-10 $57.80

DIRECT READ REGISTERS R82F51 REG-DIR READ C/F PLS 2 T-10 $37.80

DIRECT READ REGISTERS R82F52 REG-DIR READ C/F BRONZE 2 T-10 $57.80

DIRECT READ REGISTERS R82G11 REG-DIR READ GAL PLS 5/8 T-10 $37.80

DIRECT READ REGISTERS R82G12 REG-DIR READ GAL BRONZE 5/8 T-10 $57.80

DIRECT READ REGISTERS R82G21 REG-DIR READ GAL PLS 3/4 T-10 $37.80

DIRECT READ REGISTERS R82G22 REG-DIR READ GAL BRONZE 3/4 T-10 $57.80

DIRECT READ REGISTERS R82G31 REG-DIR READ GAL PLS 1 T-10 $37.80

DIRECT READ REGISTERS R82G32 REG-DIR READ GAL BRONZE 1 T-10 $57.80

DIRECT READ REGISTERS R82G41 REG-DIR READ GAL PLS 1 1/2 T-10 $37.80

DIRECT READ REGISTERS R82G42 REG-DIR READ GAL BRONZE 1 1/2 T-10 $57.80

DIRECT READ REGISTERS R82G51 REG-DIR READ GAL PLS 2 T-10 $37.80

DIRECT READ REGISTERS R82G52 REG-DIR READ GAL BRONZE 2 T-10 $57.80

DIRECT READ REGISTERS R83F8 REG-DIR READ C/F BRONZE 3 FIRE HYDRANT $100.00

DIRECT READ REGISTERS R83G8 REG-DIR READ GAL BRONZE 3 FIRE HYDRANT $100.00

E-CODER REGISTERS INSIDE RE2F11 REG-E-CODER C/F 5/8 T-10 $135.00

E-CODER REGISTERS INSIDE RE2F21 REG-E-CODER C/F 3/4 T-10 $135.00

E-CODER REGISTERS INSIDE RE2F31 REG-E-CODER C/F 1 T-10 $135.00

E-CODER REGISTERS INSIDE RE2F41 REG-E-CODER C/F 11/2 T-10 $135.00

E-CODER REGISTERS INSIDE RE2F51 REG-E-CODER C/F 2 T-10 $135.00

E-CODER REGISTERS INSIDE RE2G11 REG-E-CODER GAL 5/8 T-10 $135.00

E-CODER REGISTERS INSIDE RE2G21 REG-E-CODER GAL 3/4 T-10 $135.00

E-CODER REGISTERS INSIDE RE2G31 REG-E-CODER GAL 1 T-10 $135.00

E-CODER REGISTERS INSIDE RE2G41 REG-E-CODER GAL 11/2 T-10 $135.00

E-CODER REGISTERS INSIDE RE2G51 REG-E-CODER GAL 2 T-10 $135.00

E-CODER REGISTERS INSIDE RE4G11 REG-E-CODER GAL 5/8 SUB T-10 $135.00

E-CODER REGISTERS PIT RH2F11 REG-E-CODER PIT C/F 5/8 T-10 $157.00

E-CODER REGISTERS PIT RH2F21 REG-E-CODER PIT C/F 3/4 T-10 $157.00

E-CODER REGISTERS PIT RH2F31 REG-E-CODER PIT C/F 1 T-10 $157.00

E-CODER REGISTERS PIT RH2F41 REG-E-CODER PIT C/F 1 1/2 T-10 $157.00

E-CODER REGISTERS PIT RH2F51 REG-E-CODER PIT C/F 2 T-10 $157.00

E-CODER REGISTERS PIT RH2G11 REG-E-CODER PIT GAL 5/8 T-10 $157.00

E-CODER REGISTERS PIT RH2G21 REG-E-CODER PIT GAL 3/4 T-10 $157.00

E-CODER REGISTERS PIT RH2G31 REG-E-CODER PIT GAL 1 T-10 $157.00

E-CODER REGISTERS PIT RH2G41 REG-E-CODER PIT GAL 1 1/2 T-10 $157.00

E-CODER REGISTERS PIT RH2G51 REG-E-CODER PIT GAL 2 T-10 $157.00

FORM U676-24 (REPLACES U676-23) 25 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

E-CODER REGISTERS PIT RH3F11 REG-E-CODER PIT C/F 2 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3F21 REG-E-CODER PIT C/F 3 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3F31 REG-E-CODER PIT C/F 4 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3F41 REG-E-CODER PIT C/F 6 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3F51 REG-E-CODER PIT C/F 8 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G11 REG-E-CODER PIT GAL 2 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G21 REG-E-CODER PIT GAL 3 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G31 REG-E-CODER PIT GAL 4 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G41 REG-E-CODER PIT GAL 6 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G51 REG-E-CODER PIT GAL 8 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH3G61 REG-E-CODER PIT GAL 10 TRIDENT TURBINE $157.00

E-CODER REGISTERS PIT RH4G11 REG-E-CODER PIT GAL 5/8 SUB T-10 $157.00

E-CODER REGISTERS PIT RH5F01 REG-E-CODER PIT C/F 10 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F11 REG-E-CODER PIT C/F 2 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F21 REG-E-CODER PIT C/F 3 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F31 REG-E-CODER PIT C/F 4 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F41 REG-E-CODER PIT C/F 6 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F51 REG-E-CODER PIT C/F 8 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5F61 REG-E-CODER PIT C/F 4 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5F71 REG-E-CODER PIT C/F 6 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5F81 REG-E-CODER PIT C/F 8 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5F91 REG-E-CODER PIT C/F 10 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5FA1 REG-E-CODER PIT C/F 12 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5FB1 REG-E-CODER PIT C/F 16 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G01 REG-E-CODER PIT GAL 10 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G11 REG-E-CODER PIT GAL 2 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G21 REG-E-CODER PIT GAL 3 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G31 REG-E-CODER PIT GAL 4 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G41 REG-E-CODER PIT GAL 6 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G51 REG-E-CODER PIT GAL 8 HP TURBINE $157.00

E-CODER REGISTERS PIT RH5G61 REG-E-CODER PIT GAL 4 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5G71 REG-E-CODER PIT GAL 6 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5G81 REG-E-CODER PIT GAL 8 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH5G91 REG-E-CODER PIT GAL 10 HP PROTECTUS $157.00

E-CODER REGISTERS PIT RH8F11 REG-E-CODER PIT C/F 5/8 T-10 FOR 2 & 3 T/F $157.00

E-CODER REGISTERS PIT RH8F21 REG-E-CODER PIT C/F 3/4 T-10 FOR 4 T/F $157.00

E-CODER REGISTERS PIT RH8F31 REG-E-CODER PIT C/F 1 T-10 FOR 6 T/F & 4 HPP $157.00

E-CODER REGISTERS PIT RH8F41 REG-E-CODER PIT C/F 1 1/2 T-10 FOR 6 HPP3 $157.00

E-CODER REGISTERS PIT RH8F51 REG-E-CODER PIT C/F 2 T-10 FOR 8 & 10 HPP3 $157.00

E-CODER REGISTERS PIT RH8G11 REG-E-CODER PIT GAL 5/8 T-10 FOR 2 & 3 T/F $157.00

E-CODER REGISTERS PIT RH8G21 REG-E-CODER PIT GAL 3/4 T-10 FOR 4 T/F $157.00

E-CODER REGISTERS PIT RH8G31 REG-E-CODER PIT GAL 1 T-10 FOR 6 T/F & 4 HPP $157.00

E-CODER REGISTERS PIT RH8G41 REG-E-CODER PIT GAL 1 1/2 T-10 FOR 6 HPP3 $157.00

E-CODER REGISTERS PIT RH8G51 REG-E-CODER PIT GAL 2 T-10 FOR 8 & 10 HPP3 $157.00

E-CODER)R900i REGISTERS INSIDE RD2F13 REG-E-CODER)R900i C/F 5/8 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2F23 REG-E-CODER)R900i C/F 3/4 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2F33 REG-E-CODER)R900i C/F 1 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2F43 REG-E-CODER)R900i C/F 11/2 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2F53 REG-E-CODER)R900i C/F 2 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2G13 REG-E-CODER)R900i GAL 5/8 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2G23 REG-E-CODER)R900i GAL 3/4 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2G33 REG-E-CODER)R900i GAL 1 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2G43 REG-E-CODER)R900i GAL 11/2 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD2G53 REG-E-CODER)R900i GAL 2 T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD4F13 REG-E-CODER)R900i C/F 5/8 SUB T-10 INSIDE $283.00

E-CODER)R900i REGISTERS INSIDE RD4G13 REG-E-CODER)R900i GA 5/8 SUB T-10 INSIDE $283.00

E-CODER)R900i REGISTERS PIT RW2F13 REG-ECODER)R900i C/F 5/8 T-10 PIT $313.00

FORM U676-24 (REPLACES U676-23) 26 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

E-CODER)R900i REGISTERS PIT RW2F23 REG-ECODER)R900i  C/F 3/4 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2F33 REG-ECODER)R900i  C/F 1 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2F43 REG-ECODER)R900i  C/F 11/2 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2F53 REG-ECODER)R900i  C/F 2 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2G13 REG-ECODER)R900i  GAL 5/8 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2G23 REG-ECODER)R900i  GAL 3/4 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2G33 REG-ECODER)R900i  GAL 1 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2G43 REG-ECODER)R900i  GAL 11/2 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW2G53 REG-ECODER)R900i  GAL 2 T-10 PIT $313.00

E-CODER)R900i REGISTERS PIT RW3F13 REG-ECODER)R900i  C/F 2 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3F23 REG-ECODER)R900i  C/F 3 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3F33 REG-ECODER)R900i  C/F 4 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3F43 REG-ECODER)R900i  C/F 6 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3F53 REG-ECODER)R900i  C/F 8 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3G23 REG-ECODER)R900i  GAL 3 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3G33 REG-ECODER)R900i  GAL 4 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3G43 REG-ECODER)R900i  GAL 6 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW3G53 REG-ECODER)R900i  GAL 8 TRIDENT TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F03 REG-ECODER)R900i  C/F 10 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F13 REG-ECODER)R900i  C/F 2 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F23 REG-ECODER) C/F 3 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F33 REG-ECODER)R900i  C/F 4 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F43 REG-ECODER)R900i  C/F 6 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F53 REG-ECODER)R900i  C/F 8 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F63 REG-ECODER)R900i  C/F 4 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F73 REG-ECODER)R900i  C/F 6 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F83 REG-ECODER)R900i  C/F 8 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5F93 REG-ECODER)R900i  C/F 10 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G03 REG-ECODER)R900i  GAL 10 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G13 REG-ECODER)R900i  GAL 2 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G23 REG-ECODER)R900i  GAL 3 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G33 REG-ECODER)R900i  GAL 4 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G43 REG-ECODER)R900i  GAL 6 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G53 REG-ECODER)R900i  GAL 8 HP TURBINE PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G63 REG-ECODER)R900i  GAL 4 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G73 REG-ECODER)R900i  GAL 6 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G83 REG-ECODER)R900i  GAL 8 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW5G93 REG-ECODER)R900i  GAL 10 HP PROTECTUS PIT $313.00

E-CODER)R900i REGISTERS PIT RW8F13 REG-ECODER)R900i  C/F 5/8 T-10 FOR 2 & 3 T/F P $313.00

E-CODER)R900i REGISTERS PIT RW8F23 REG-ECODER)R900i  C/F 3/4 T-10 FOR 4 T/F PIT $313.00

E-CODER)R900i REGISTERS PIT RW8F33 REG-ECODER)R900i  C/F 1 T-10 FOR 6 T/F & 4 HPP $313.00

E-CODER)R900i REGISTERS PIT RW8F43 REG-ECODER)R900i  C/F 1 1/2 T10 FOR 6 HPP3 $313.00

E-CODER)R900i REGISTERS PIT RW8F53 REG-ECODER)R900i  C/F 2 T-10 FOR 8 & 10 HPP3 P $313.00

E-CODER)R900i REGISTERS PIT RW8G13 REG-ECODER)R900i  GAL 5/8 T-10 FOR 2 & 3 T/F P $313.00

E-CODER)R900i REGISTERS PIT RW8G23 REG-ECODER)R900i  GAL 3/4 T-10 FOR 4 T/F PIT $313.00

E-CODER)R900i REGISTERS PIT RW8G33 REG-ECODER)R900i  GAL 1 T-10 FOR 6 T/F & 4 HPP $313.00

E-CODER)R900i REGISTERS PIT RW8G43 REG-ECODER)R900i  GAL 11/2 T10 FOR 6 HPP3 $313.00

E-CODER)R900i REGISTERS PIT RW8G53 REG-ECODER)R900i  GAL 2 T-10 FOR 8 & 10 HPP3 $313.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2F11SG89 LoRaWAN REG-ECODER)R900i  PIT 5/8 T-10 C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2F21SG89 LoRaWAN REG-ECODER)R900i  PIT 3/4 T-10 C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2F31SG89 LoRaWAN REG-ECODER)R900i  PIT 1 T-10 C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2F41SG89 LoRaWAN REG-ECODER)R900i  PIT 11/2 T-10 C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2F51SG89 LoRaWAN REG-ECODER)R900i  PIT 2 T-10 C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G11SG89 LoRaWAN REG-ECODER)R900i  PIT 5/8 T-10 GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G21SG89 LoRaWAN REG-ECODER)R900i  PIT 3/4 T-10 GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G31SG89 LoRaWAN REG-ECODER)R900i  PIT 1 T-10 GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G41SG89 LoRaWAN REG-ECODER)R900i  PIT 11/2 T-10 GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G41SG90 LoRaWAN REG-ECODER)R900i  PIT 11/2 T-10 GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G51SG89 LoRaWAN REG-ECODER)R900i  PIT 2 T-10 GAL $387.00

FORM U676-24 (REPLACES U676-23) 27 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LoRaWAN E-CODER)R900i REGISTERS PIT RYM2G51SG90 LoRaWAN REG-ECODER)R900i  PIT 2 T-10 GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3F21SG89 LoRaWAN REG-ECODER)R900i  PIT 3 T/T C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3F21SG90 LoRaWAN REG-ECODER)R900i  PIT 3 T/T C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3F31SG89 LoRaWAN REG-ECODER)R900i  PIT 4 T/T C/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3F31SG90 LoRaWAN REG-ECODER)R900i  PIT 4 T/T C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3F41SG90 LoRaWAN REG-ECODER)R900i  PIT 6 T/T C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G21SG89 LoRaWAN REG-ECODER)R900i  PIT 3 T/T GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G21SG90 LoRaWAN REG-ECODER)R900i  PIT 3 T/T GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G31SG89 LoRaWAN REG-ECODER)R900i  PIT 4 T/F GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G31SG90 LoRaWAN REG-ECODER)R900i  PIT 4 T/F GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G41SG89 LoRaWAN REG-ECODER)R900i  PIT 6 T/T GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM3G41SG90 LoRaWAN REG-ECODER)R900i  PIT 6 T/T GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F01SG90 LoRaWAN REG-ECODER)R900i  PIT 10 HP TURBINE C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F11SG90 LoRaWAN REG-ECODER)R900i  PIT 2 HP TURBINE CF $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F21SG90 LoRaWAN REG-ECODER)R900i  PIT 3 HP TURBINE C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F31SG90 LoRaWAN REG-ECODER)R900i  PIT 4 HP TURBINE C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F41SG90 LoRaWAN REG-ECODER)R900i  PIT 6 HP TURBINE C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F51SG90 LoRaWAN REG-ECODER)R900i  PIT 8 HP TURBINE C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F61SG90 LoRaWAN REG-ECODER)R900i  PIT 4 HP PROTECTUS C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F71SG90 LoRaWAN REG-ECODER)R900i  PIT 6 HP PROTECTUS C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F81SG90 LoRaWAN REG-ECODER)R900i  PIT 8 HP PROTECTUS C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5F91SG90 LoRaWAN REG-ECODER)R900i  PIT 10 HP PROTECTUS C/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G01SG90 LoRaWAN REG-ECODER)R900i  PIT 10 HP TURBINE GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G11SG89 LoRaWAN REG-ECODER)R900i  PIT 2 HP TURBINE GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G21SG89 LoRaWAN REG-ECODER)R900i  PIT 3 HP TURBINE GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G31SG89 LoRaWAN REG-ECODER)R900i  PIT 4 HP TURBINE GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G41SG89 LoRaWAN REG-ECODER)R900i  PIT 6 HP TURBINE GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G51SG89 LoRaWAN REG-ECODER)R900i  PIT 8 HP TURBINE GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G51SG90 LoRaWAN REG-ECODER)R900i  PIT 8 HP TURBINE GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G61SG89 LoRaWAN REG-ECODER)R900i  PIT 4 HP PROTECTUS GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G71SG89 LoRaWAN REG-ECODER)R900i  PIT 6 HP PROTECTUS GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G71SG90 LoRaWAN REG-ECODER)R900i  PIT 6 HP PROTECTUS GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G81SG89 LoRaWAN REG-ECODER)R900i  PIT 8 HP PROTECTUS GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G81SG90 LoRaWAN REG-ECODER)R900i  PIT 8 HP PROTECTUS GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G91SG89 LoRaWAN REG-ECODER)R900i  PIT 10 HP PROTECTUS GAL $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM5G91SG90 LoRaWAN REG-ECODER)R900i  PIT 10 HP PROTECTUS GAL $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F11SG89 LoRaWAN REG-ECODER)R900i  PIT 5/8 T10  C/F F/2 & 3 T/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F11SG90 LoRaWAN REG-ECODER)R900i  PIT 5/8 T10  C/F F/2 & 3 T/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F21SG89 LoRaWAN REG-ECODER)R900i  PIT 3/4 T10 C/F FOR 4 T/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F21SG90 LoRaWAN REG-ECODER)R900i  PIT 3/4 T10 C/F FOR 4 T/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F31SG90 LoRaWAN REG-ECODER)R900i  PIT 1 T10 C/F F/6 T/F & 4HPP $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F41SG90 LoRaWAN REG-ECODER)R900i  PIT 11/2 T10 C/F 6 HPP3 $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8F51SG90 LoRaWAN REG-ECODER)R900i  PIT 2 T10 C/F F/8 & 10 HPP3 $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G11SG89 LoRaWAN REG-ECODER)R900i  PIT 5/8 T10  GAL F/2 & 3 T/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G11SG90 LoRaWAN REG-ECODER)R900i  PIT 5/8 T10  GAL F/2 & 3 T/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G21SG89 LoRaWAN REG-ECODER)R900i  PIT 3/4 T10 GAL FOR 4 T/F $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G21SG90 LoRaWAN REG-ECODER)R900i  PIT 3/4 T10 GAL FOR 4 T/F $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G31SG89 LoRaWAN REG-ECODER)R900i  PIT 1 T10 GAL F/6 T/F & 4HPP $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G31SG90 LoRaWAN REG-ECODER)R900i  PIT 1 T10 GAL F/6 T/F & 4HPP $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G41SG89 LoRaWAN REG-ECODER)R900i  PIT 11/2 T10 GAL 6 HPP3 $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G41SG90 LoRaWAN REG-ECODER)R900i  PIT 11/2 T10 GAL 6 HPP3 $399.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G51SG89 LoRaWAN REG-ECODER)R900i  PIT 2 T10 GAL F/8 & 10 HPP3 $387.00

LoRaWAN E-CODER)R900i REGISTERS PIT RYM8G51SG90 LoRaWAN REG-ECODER)R900i  PIT 2 T10 GAL F/8 & 10 HPP3 $399.00

PROCODER REGISTERS INSIDE RPE2G11 REG-PROCODER 5/8 T10 STANDALONE INSIDE GAL $131.00

PROCODER REGISTERS INSIDE RPE2G21 REG-PROCODER 3/4 T10 STANDALONE INSIDE GAL $131.00

PROCODER REGISTERS INSIDE RPE2G31 REG-PROCODER 1 T10 STANDALONE INSIDE GAL $131.00

PROCODER REGISTERS INSIDE RPE2G41 REG-PROCODER 11/2 T10 STANDALONE INSIDE GAL $131.00

PROCODER REGISTERS INSIDE RPE2G51 REG-PROCODER 2 T10 STANDALONE INSIDE GAL $131.00

FORM U676-24 (REPLACES U676-23) 28 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

PROCODER REGISTERS INSIDE RPE8F11 REG-PROCODER SA INSIDE CF 5/8 T-10 FOR 2&3 T/F $131.00

PROCODER REGISTERS INSIDE RPE8F21 REG-PROCODER SA INSIDE CF 3/4 T-10 FOR 4 T/F $131.00

PROCODER REGISTERS INSIDE RPE8F31 REG-PROCODER SA INSIDE CF 1 T-10 FOR 6 T/F & 4 HPP $131.00

PROCODER REGISTERS INSIDE RPE8F41 REG-PROCODER SA INSIDE CF 11/2 T-10 FOR 6 HPPIII $131.00

PROCODER REGISTERS INSIDE RPE8F51 REG-PROCODER SA INSIDE CF 2 T-10 FOR 8&10 HPPIII $131.00

PROCODER REGISTERS PIT RPH2G11 REG-PROCODER 5/8 T10 STANDALONE PIT GAL $153.00

PROCODER REGISTERS PIT RPH2G21 REG-PROCODER 3/4 T10 STANDALONE PIT GAL $153.00

PROCODER REGISTERS PIT RPH2G31 REG-PROCODER 1 T10 STANDALONE PIT GAL $153.00

PROCODER REGISTERS PIT RPH2G41 REG-PROCODER 11/2 T10 STANDALONE PIT GAL $153.00

PROCODER REGISTERS PIT RPH2G51 REG-PROCODER 2 T10 STANDALONE PIT GAL $153.00

PROCODER REGISTERS PIT RPH3F21 REG-PROCODER SA PIT C/F 3 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH3F31 REG-PROCODER SA PIT C/F 4 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH3F41 REG-PROCODER SA PIT C/F 6 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH3G21 REG-PROCODER SA PIT GAL 3 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH3G31 REG-PROCODER SA PIT GAL 4 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH3G41 REG-PROCODER SA PIT GAL 6 TRIDENT TURBINE $153.00

PROCODER REGISTERS PIT RPH5F01 REG-PROCODER SA PIT C/F 10 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F11 REG-PROCODER SA PIT C/F 2 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F21 REG-PROCODER SA PIT C/F 3 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F31 REG-PROCODER SA PIT C/F 4 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F41 REG-PROCODER SA PIT C/F 6 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F51 REG-PROCODER SA PIT C/F 8 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5F61 REG-PROCODER SA PIT C/F 4 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5F71 REG-PROCODER SA PIT C/F 6 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5F81 REG-PROCODER SA PIT C/F 8 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5F91 REG-PROCODER SA PIT C/F 10 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5G01 REG-PROCODER SA PIT GAL 10 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G11 REG-PROCODER SA PIT GAL 2 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G21 REG-PROCODER SA PIT GAL 3 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G31 REG-PROCODER SA PIT GAL 4 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G41 REG-PROCODER SA PIT GAL 6 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G51 REG-PROCODER SA PIT GAL 8 HP TURBINE $153.00

PROCODER REGISTERS PIT RPH5G61 REG-PROCODER SA PIT GAL 4 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5G71 REG-PROCODER SA PIT GAL 6 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5G81 REG-PROCODER SA PIT GAL 8 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH5G91 REG-PROCODER SA PIT GAL 10 HP PROTECTUS $153.00

PROCODER REGISTERS PIT RPH8F11 REG-PROCODER SA PIT C/F 5/8 T-10 FOR 2&3 T/F $153.00

PROCODER REGISTERS PIT RPH8F21 REG-PROCODER SA PIT C/F 3/4 T-10 FOR 4 T/F $153.00

PROCODER REGISTERS PIT RPH8F31 REG-PROCODER SA PIT C/F 1 T-10 FOR 6 T/F & 4 HPP $153.00

PROCODER REGISTERS PIT RPH8F41 REG-PROCODER SA PIT C/F 11/2 T-10 FOR 6 HPP3 $153.00

PROCODER REGISTERS PIT RPH8F51 REG-PROCODER SA PIT C/F 2 T-10 FOR 8 & 10 HPP3 $153.00

PROCODER REGISTERS PIT RPH8G11 REG-PROCODER SA PIT GAL 5/8 T-10 FOR 2&3 T/F $153.00

PROCODER REGISTERS PIT RPH8G21 REG-PROCODER SA PIT GAL 3/4 T-10 FOR 4 T/F $153.00

PROCODER REGISTERS PIT RPH8G31 REG-PROCODER SA PIT GAL 1 T-10 FOR 6 T/F & 4 HPP $153.00

PROCODER REGISTERS PIT RPH8G41 REG-PROCODER SA PIT GAL 11/2 T-10 FOR 6 HPP3 $153.00

PROCODER REGISTERS PIT RPH8G51 REG-PROCODER SA PIT GAL 2 T-10 FOR 8 & 10 HPP3 $153.00

PROCODER)R900i REGISTERS INSIDE RPD2G11 REG-PROCODER 5/8 T10 R900i INSIDE GAL $283.00

PROCODER)R900i REGISTERS INSIDE RPD2G21 REG-PROCODER 3/4 T10 R900i INSIDE GAL $283.00

PROCODER)R900i REGISTERS INSIDE RPD2G31 REG-PROCODER 1 T10 R900i INSIDE GAL $283.00

PROCODER)R900i REGISTERS INSIDE RPD2G41 REG-PROCODER 11/2 T10 R900i INSIDE GAL $283.00

PROCODER)R900i REGISTERS INSIDE RPD2G51 REG-PROCODER 2 T10 R900i INSIDE GAL $283.00

PROCODER)R900i REGISTERS PIT RPW2G11 REG-PROCODER 5/8 T10 R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW2G21 REG-PROCODER 3/4 T10 R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW2G31 REG-PROCODER 1 T10 R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW2G41 REG-PROCODER 1 1/2 T10 R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW2G51 REG-PROCODER 2 T10 R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW3F21 REG-PROCODER 3 T/T R900i PIT C/F $309.00

FORM U676-24 (REPLACES U676-23) 29 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

PROCODER)R900i REGISTERS PIT RPW3F31 REG-PROCODER 4 T/T R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW3F41 REG-PROCODER 6 T/T R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW3G21 REG-PROCODER 3 T/T R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW3G31 REG-PROCODER 4 T/T R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW3G41 REG-PROCODER 6 T/T R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5F01 REG-PROCODER 10 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F11 REG-PROCODER 2 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F21 REG-PROCODER 3 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F31 REG-PROCODER 4 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F41 REG-PROCODER 6 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F51 REG-PROCODER 8 HPT R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F61 REG-PROCODER 4 HPPIII R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F71 REG-PROCODER 6 HPPIII R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F81 REG-PROCODER 8 HPPIII R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5F91 REG-PROCODER 10 HPPIII R900i PIT C/F $309.00

PROCODER)R900i REGISTERS PIT RPW5G01 REG-PROCODER 10 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G11 REG-PROCODER 2 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G21 REG-PROCODER 3 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G31 REG-PROCODER 4 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G41 REG-PROCODER 6 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G51 REG-PROCODER 8 HPT R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G61 REG-PROCODER 4 HPPIII R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G71 REG-PROCODER 6 HPPIII R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G81 REG-PROCODER 8 HPPIII R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW5G91 REG-PROCODER 10 HPPIII R900i PIT GAL $309.00

PROCODER)R900i REGISTERS PIT RPW8F11 REG-PROCODER  PIT 5/8 T10 FOR 2&3 T/F C/F $309.00

PROCODER)R900i REGISTERS PIT RPW8F21 REG-PROCODER  PIT 3/4 T10 FOR 4 T/F C/F $309.00

PROCODER)R900i REGISTERS PIT RPW8F31 REG-PROCODER  PIT 1 T10 FOR 6 T/F&4 HPP CF $309.00

PROCODER)R900i REGISTERS PIT RPW8F41 REG-PROCODER  PIT 1 1/2 T10 FOR 6 HPP3 CF $309.00

PROCODER)R900i REGISTERS PIT RPW8F51 REG-PROCODER  PIT 2 T10 FOR 8&10 HPP3 CF $309.00

PROCODER)R900i REGISTERS PIT RPW8G11 REG-PROCODER  PIT 5/8 T10 FOR 2&3 T/F GAL $309.00

PROCODER)R900i REGISTERS PIT RPW8G21 REG-PROCODER  PIT 3/4 T10 FOR 4 T/F GAL $309.00

PROCODER)R900i REGISTERS PIT RPW8G31 REG-PROCODER  PIT 1 T10 FOR 6 T/F&4 HPP GA $309.00

PROCODER)R900i REGISTERS PIT RPW8G41 REG-PROCODER  PIT 1 1/2 T10 FOR 6 HPP3 GA $309.00

PROCODER)R900i REGISTERS PIT RPW8G51 REG-PROCODER  PIT 2 T10 FOR 8&10 HPP3 GAL $309.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F11SG89 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F21SG89 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F31SG89 LoRaWAN REG-PROCODER R900i PIT 1 T10 C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F41SG89 LoRaWAN REG-PROCODER R900i PIT 11/2 T10 C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F41SG90 LoRaWAN REG-PROCODER R900i PIT 11/2 T10 C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F51SG89 LoRaWAN REG-PROCODER R900i PIT 2 T10 C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2F51SG90 LoRaWAN REG-PROCODER R900i PIT 2 T10 C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G11SG89 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G21SG89 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G31SG89 LoRaWAN REG-PROCODER R900i PIT 1 T10 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G41SG89 LoRaWAN REG-PROCODER R900i PIT 11/2 T10 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G41SG90 LoRaWAN REG-PROCODER R900i PIT 11/2 T10 GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G51SG89 LoRaWAN REG-PROCODER R900i PIT 2 T10 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM2G51SG90 LoRaWAN REG-PROCODER R900i PIT 2 T10 GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F21SG89 LoRaWAN REG-PROCODER R900i PIT 3 TRIDENT TURBINE C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F21SG90 LoRaWAN REG-PROCODER R900i PIT 3 TRIDENT TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F31SG89 LoRaWAN REG-PROCODER R900i PIT 4 TRIDENT TURBINE C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F31SG90 LoRaWAN REG-PROCODER R900i PIT 4 TRIDENT TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F41SG89 LoRaWAN REG-PROCODER R900i PIT 6 TRIDENT TURBINE C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3F41SG90 LoRaWAN REG-PROCODER R900i PIT 6 TRIDENT TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G21SG89 LoRaWAN REG-PROCODER R900i PIT 3 TRIDENT TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G21SG90 LoRaWAN REG-PROCODER R900i PIT 3 TRIDENT TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G31SG89 LoRaWAN REG-PROCODER R900i PIT 4 TRIDENT TURBINE GAL $383.00

FORM U676-24 (REPLACES U676-23) 30 NEPTUNE TECHNOLOGY GROUP INC.



Water Parts Price List

Description Part Number Part Description List Price

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G31SG90 LoRaWAN REG-PROCODER R900i PIT 4 TRIDENT TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G41SG89 LoRaWAN REG-PROCODER R900i PIT 6 TRIDENT TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM3G41SG90 LoRaWAN REG-PROCODER R900i PIT 6 TRIDENT TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F11SG90 LoRaWAN REG-PROCODER R900i PIT 2 HP TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F21SG90 LoRaWAN REG-PROCODER R900i PIT 3 HP TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F31SG90 LoRaWAN REG-PROCODER R900i PIT 4 HP TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F41SG90 LoRaWAN REG-PROCODER R900i PIT 6 HP TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F51SG90 LoRaWAN REG-PROCODER R900i PIT 8 HP TURBINE C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5F71SG90 LoRaWAN REG-PROCODER R900i PIT 6 HP PROTECTUS C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G01SG89 LoRaWAN REG-PROCODER R900i PIT 10 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G01SG90 LoRaWAN REG-PROCODER R900i PIT 10 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G11SG89 LoRaWAN REG-PROCODER R900i PIT 2 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G11SG90 LoRaWAN REG-PROCODER R900i PIT 2 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G21SG89 LoRaWAN REG-PROCODER R900i PIT 3 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G21SG90 LoRaWAN REG-PROCODER R900i PIT 3 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G31SG89 LoRaWAN REG-PROCODER R900i PIT 4 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G31SG90 LoRaWAN REG-PROCODER R900i PIT 4 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G41SG89 LoRaWAN REG-PROCODER R900i PIT 6 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G41SG90 LoRaWAN REG-PROCODER R900i PIT 6 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G51SG89 LoRaWAN REG-PROCODER R900i PIT 8 HP TURBINE GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G51SG90 LoRaWAN REG-PROCODER R900i PIT 8 HP TURBINE GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G61SG89 LoRaWAN REG-PROCODER R900i PIT 4 HP PROTECTUS GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G61SG90 LoRaWAN REG-PROCODER R900i PIT 4 HP PROTECTUS GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G71SG89 LoRaWAN REG-PROCODER R900i PIT 6 HP PROTECTUS GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G71SG90 LoRaWAN REG-PROCODER R900i PIT 6 HP PROTECTUS GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G81SG89 LoRaWAN REG-PROCODER R900i PIT 8 HP PROTECTUS GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G81SG90 LoRaWAN REG-PROCODER R900i PIT 8 HP PROTECTUS GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G91SG89 LoRaWAN REG-PROCODER R900i PIT 10 HP PROTECTUS GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM5G91SG90 LoRaWAN REG-PROCODER R900i PIT 10 HP PROTECTUS GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F11SG89 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 FOR 2&3 T/F C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F11SG90 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 FOR 2&3 T/F C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F21SG89 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 FOR 4 T/F C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F21SG90 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 FOR 4 T/F C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F31SG89 LoRaWAN REG-PROCODER R900i PIT 1 T10 F/6 T/F&4 HPP C/F $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F31SG90 LoRaWAN REG-PROCODER R900i PIT 1 T10 F/6 T/F & 4 HPP C $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8F41SG90 LoRaWAN REG-PROCODER R900i PIT 1 1/2 T10 F/6 HPP3 C/F $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G11SG89 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 FOR 2&3 T/F GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G11SG90 LoRaWAN REG-PROCODER R900i PIT 5/8 T10 FOR 2&3 T/F GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G21SG89 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 FOR 4 T/F GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G21SG90 LoRaWAN REG-PROCODER R900i PIT 3/4 T10 FOR 4 T/F GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G31SG89 LoRaWAN REG-PROCODER R900i PIT 1 T10 F/6 T/F & 4 HPP G $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G31SG90 LoRaWAN REG-PROCODER R900i PIT 1 T10 F/6 T/F&4 HPP3 GA $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G41SG89 LoRaWAN REG-PROCODER R900i PIT 11/2 T10 FOR 6 HPP3 GAL $383.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G41SG90 LoRaWAN REG-PROCODER R900i PIT 1 1/2 T10 F/6 HPP3 GAL $395.00

LoRaWAN PROCODER)R900i REGISTERS PIT RPM8G51SG90 LoRaWAN REG-PROCODER R900i PIT 2 T-10 F/8 & 10 HPP3 GAL $395.00

FORM U676-24 (REPLACES U676-23) 31 NEPTUNE TECHNOLOGY GROUP INC.



__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

NOTES

	 NEPTUNE TECHNOLOGY GROUP INC.



__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

__________________________________________________________________

NOTES

	 33



To obtain pricing or order 
related parts and equipment, 
contact your local Neptune Sales 
Representative, Authorized 
Neptune Distributor, or contact 
the Neptune Customer Service 
Department at 800-645-1892.

CUSTOMER SERVICE
(800) 645-1892 phone
(334) 283-7434 fax

SYSTEMS SUPPORT
(800) 647-4832 phone
(334) 283-7497 fax

PL  U676-24  03.22   © Copyright 2022, Neptune Technology Group Inc. Neptune is a registered trademark of Neptune Technology Group Inc.

Neptune Technology Group Inc. 
1600 Alabama Highway 229 
Tallassee, AL 36078 
USA Tel: (800) 633-8754 
Fax: (334) 283-7293 

Neptune Technology Group  
(Canada) Ltd. 
7275 West Credit Avenue 
Mississauga, Ontario L5N 5M9 
Canada Tel: (905) 858-4211 
Fax: (905) 858-0428 

Neptune Technology Group Inc. 
Avenida Ejercito Nacional No 418 
Piso 12, Despacho 1203 
Colonia Polanco V Sección 
C.P. 11560 Delegación, Miguel Hidalgo
Mexico D.F.
Tel: (55) 5203-5708, (55) 5203-4032,

(55) 5203-5294

neptunetg.com


	U676-24 (rev.1)-Listing.pdf
	plist3years




